The Guide to Reading Gaelic

()a0)0) [a:]
When a or ai, which may be preceded and/or followed by other
letters occur, you get long [a]]. There are a small number of

exceptions (like Gaidheal and paipear). Note that some dialects %
have a tendency to turn many ai combinations into [€]. g
Examples: e
arach [a:rex] aite [a:dig] o
lar [La:r] caite [ka:hdia]
ba [ba:] a-mhain [e'va:N]

(9)20i + b(), bh(-), dh(-), m(-), mh(-), gh(-), dh(-) [¥]
When you get aoi in a stressed syllable, possibly after some letters,
you most commonly get the [¥] sound if they are followed by one of o
the above labials or gh/dh. I__;IlfI
Examples: g
craoibhe [kr¥jo] aoigh [¥j] 8
daoimean [d¥iman] naoidhean [Nyjan]
faoighe [f¥jo] claoidh [kLyj]

(-)ao(i)- [w:]
When the previous rule doesn'’t apply, ao and aoi at the beginning or
in the middle of a word are both pronounced [w:]. %
Examples: 8
aosta [w:sda] aois [wif] @
gaol [quiL] taois [tw:f]
faodaidh [fw:d1] maoil [muwil]

X0 (-)ai + I, nn, m [ai]
lIC(-), nnC(-), mC(-) [ai]

This rule deals with ai (optionally with letters in front of it) which is
followed either by:

= I, nn or m without anything following them, that is, at the end of
a word

= I, nn or m which are immediately followed by a consonant and
optionally more letters

In all cases the pronunciation will be [ai].

Examples:

aill [ail] aillse [ailifs]

caill [kail’] aimbeart [aimbaR([d]

crainn [kraiN] bainnse [SEINIE]

a3ss3dls

VW (-)a + I, nn, m [au]
[IC(-), nnC(-), mC(-) [au]

This rule deals with au (optionally with letters in front of it) which is
followed either by:
= I, nn or m without anything following them, that is, at the end of

a word

= I, nn or m which are immediately followed by a consonant and
optionally more letters

In all cases the pronunciation will be [au].

Examples:

call [kaul] calltainn [kauLdiN]

ann [auN] annta [alNds]

cam [kaum] campa [k&lmba]

a3ss3dls
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Gal) +  rd(-), i), m(), rr, rC() VAR:a  [a]

You get long [a:] if a or ai are followed by

» double rr at the end of a word

= double rr which is immediately followed by a consonant and
possibly more letters

= rd, rl or rn which may be then followed by any other letters

O (-)ai + ghC(-) [¥]
When ai, either preceded by other letters or not, is followed by
gh and another consonant immediately after, the pronunciation will

The vowels affected by these consonants are sometimes written as 2’|

a but this isn’t necessary as it’s totally predictable when the a will be I'jlgl

long. Not using the grave also avoids the problem of having to %

remove the grave when vowels are added to a word, for example &

barr[ba:R] & barra [baRas] vs barr[ba:R] and barra [baRs].

Examples:

barr [ba:R] ard [a:Rd]

sparr [sba:R] cam [ka:RN]

Farr [fa:R] airde [a:Rdis]

(Jai + [h] X1 [¢] e]

When the ai group, possibly with letters in front of it, is followed by
- (7))

one of the guttural fricatives [h] [x] or [¢], you usually get [€]. ;—U|

Examples: g

faicinn [fecg'IN] craiceann [kregg'aN] m

w)
cait [kehd] slait [sLehd]
aice [ecgia] caitheamh [kehav]

be [¥]. Other letters may follow but won't affect the pronunciation of c—D|
. . . . . . P

the ai. This rules operates in conjunction with rule GO09. g

Examples: r(ﬁ

saighdear [s¥idier] maighdeann [myidiaN] o

saighde [syidig] maighdeag [myidiag]

slaightear [sLyider] faighnich [f¥inig]

CH (-)a + dhC(-), ghC(-) [¥:]

When g, either preceded by other letters or not, is followed by gh or

dh and another consonant immediately after, the pronunciation will

be [¥:]. Other letters may follow but won’t affect the pronunciation of %

the a. m

()}

Examples: I'UI')I

adhbrann [v:breN] laghdaich [Ly:dg] o

adhbhar [¥:ver] adhlac [¥:Lag]

Fadhlainn [f¥:LINT] adhradh [¥:ray]
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(9 + dh(V-), gh(V-) [¥] JXPY ()2 + 1b(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh()  [a-a]
In a stressed syllable, when a (possibly with letters in front of it) is nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [a-a]
foIIovyed by dh or gh at the end or alternatively by a vowel and ® tb(-), tbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [a-a]
possibly more letters, then you get a short [¥]. Pl
m ml(-), mr(-), ms(-), mch(-) [a-a] @
Examples: A o . L . 3
m When a, possibly with letters in front of it, is involved in a helping fm
laghach [Ly.6x] adha [¥-9] o vowel appearing, you get [a-a]. Other letters may follow. 8
aghaidh [¥.1] adharc [¥.arg] Examples: g
taghadh [tY.SX] radharc [Ry.erg] Alba [aLabs] margadh [maragey]
Banbh [banav] garbh [garav]
YK (-)ai + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [e-<] arm [aram] amlach [amaLax]
nb(_)’ nbh(-)1 nCh(-)1 ngh(_)’ nm('), nmh(-) [8_8]
tb(-), bh(-), reh(-), rg(-), rgh(-), rm(-), rmh(-) [ e-€] (-)a(i)(-) ELSEWHERE [a]
mi(-), mr(-), ms(-), mch(-) [e€] This rule means that if an a or ai, either at the start of a word or
When the ai group, possibly with letters in front of it, is involved in a follwing letters and optionally with letters following, does not fit any
helping vowel appearing, this is most commonly [e-€]. Other letters (i’| of the other rules above, it will most commonly be pronounced [a] in %
may follow. |-;H a stressed syllable. m
Note that although [e-€] is the most common denominator, ai in this 8 Examples: I'UI')I
environment is far from uniform, the most common alternative being g acras [axgres] aiseag [afog] o
[e-a]. , .
aran [aran] aifreann [afriaN]
Examples:
. ; :
airgead [eregiad] tairbh [teriev] athair [ahar] caileag [kalag]
ainm [enem] cainb [keneb]
aimsir [emeftr] gairbhe [gereva]
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_ail(-)

Other letters may follow.
Examples:

togail [togal]
anail [anal]
caochail [kwi:xal]

This ending in an unstressed syllable will usually have clear [a].

-ag(), -an(-

Examples:

beagan [began]
balachan [balLaxan]
curran [kuRan]

These two endings in an unstressed syllable will have clear [a].
Remember that in the case of -an that only applies when it's not a
plural ending! Other letters may follow.

Yl -aig(-)
-ain(-)

follow the -aig and -ain.
Examples:

beagain [begeN]]
balachain [baLaxeN]]
currain [kuReN]

When - in an unstressed syllable - the endings -ag and -an are
slenderised for whatever reason, you get [g].

[al] -aigh(-) [ai]
cC In an unstressed syllable -aigh will be [a]], both when it is at the end
z . o C
n of a word or when more letters follow. This ending is most common Z=
a in surnames and place names. %
fearail [feral] @ Examples: m
m . : . . 1)
laghaileachd [Lyyaloxg] (w] Barraigh [baRaj] Pabaigh [pabaj] Q
morail [mo:ral] Stromaigh [sdro:maj] MacAmhlaigh  [max'gailLaj]
Ronaigh [Ro:naj] iomhaigh [iovaj]
[a]
LN -aich(-) [1]
c .
% -aidh [1]
c
;—U' The -ai- in the above endings in an unstressed syllable will be [1]. If %
g other letters follow the -aidh then you get [1j]. :_U|
putag [puhdag] A Examples: o
@)
corrag [koRag] glasaidh [gLasI] cungaidhean [kungrjan] @
marag [marag] aghaidh [¥.1] leasaichidh [Les1cI]
margaidhean [maragijan] abaich [ab1c]
[eg']
[eN'] -ai(-) + PALATAL (¢ [g7] L] [N [7] [1) [1]
% In an unstressed syllable ai, which may or may not be followed by
Other letters may Z’, other letters, will be [1] if followed by a phonetically palatal sound. é
. Examples: 2
I_CJJ:I balaich [balic] Padraig [pa:drig] Cm’)
. . m
putaige [puhdeg'e] o caraid [kard]] abair [ab1r] O
corraige [koReg’s] acainn [axgIN'] aRaghnaill [ ry.1L]
maraige [maregia]
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_a(i)(-) ELSEWHERE (0]

In an unstressed syllable a, which may or may not be followed by
other letters, will be [8] when none of the previous rules apply.
Examples:

balach [balLax] curaim [ku:rem]
lomarra [LomaRa] altraim [aLdrem]

balla [baLa] foghlaim [f¥:Lam]

d3SS3H1ISNN

()VbhC(-) [ ]

When you have a vowel that is marked long followed by a broad
bh which itself is followed immediately by another consonant, the
bh is silent. Other letters may come in front of the long vowel and
follow the consonant but have no effect.

This spelling rule is handled a bit messily by some so you may want
to check a dictionary. For example, the word for ‘swallow’ can be
found as gobhlan and gobhlan (both [go:Lan]). If you find any cases
of a spelling with the grave, then assume it should be present in all
cases.

Examples:
dubhlan
siubhlach

ubhlan

[du:Lan]
[Ju:Lex]

[u:Lan]

cubhraidh [ku:r1]
dobhran

sedbhrag

[do:ran]

[Jorrag]

avoadsd

=0y (-)VV / V: + bhV(-) [v]
This slightly complicated looking rule looks worse than it is. It
means that when you get a bh following a diphthong or a long vowel
and get another vowel after it, the bh will usually still be pronounced
[V].

This only happens after ‘natural’ diphthongs and long vowels, as in
where the spelling tells you directly that it's a diphthong or long
vowel. The kind of diphthong you get in rule BO1 doesn’t count
here.

Examples:

uabhasach [uevesax] craobhan [krw:ven]
treubhan [treiven] faobhar [fuver]
buabhall [buavel] abhaist [a:vi[d]

avoads=Ad
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-bhC(-) [u]

If rule BO1 does not apply and you have a broad bh immediately

followed by another consonant, with letters in front and possibly @
after, then the bh will turn into an [u] vowel. g
Examples: >
cabhsair [kausrr] slabhraidh [sLaurI] o
sabhs [saus] bobhla [boulLa]
labhrach [Laurax] abhlann [auLaN]

()VbhV(, [
This rule affects bh that is caught between two vowels, possibly with
other sounds coming before and after. Such a bh will usually result
in hiatus. There are quite a few exceptions to this rule as it can also
still be [v] and on occasion [u]. (@)
Examples: >

. O
abhainn [a.IN]] rubha [Ru.8]
ubhal [u.eL] diabhal [diia.aL]
gobhar [go.er] cobhair [ko.1r]

(-)bh(-) ELSEWHERE [v]

This means that in all those cases where none of the previous rules
about bh have applied, you can assume that it's going to be [v], both @
at the start and at end of words. g
Examples: >
bhasaich [va:sig] craobh [krwi:v] O
bhuail [vual] taobh [tw:v]

bhagair [vagrr] falbh [faLav]

0l (-)b(-) [b]
This rule deals with the remaining cases of broad b. It means that
you can expect a broad b to be [b] both at the start, in the middle @
and at the end of words. A
E les: ©
xamples: >
baga [bage] cabar [kabar] o
balla [bals] gob [gob]
aba [aba] ob [0:b]
S10ral (-) + u(z) w(:) o(:) ¥(:) o(:) a(:) us + bh' [iv]
When a slender bh is preceded by a back vowel or back diphthong
and the bh is at the end of the word then you get [iv]. Other letters ™
may come in front. ;
Examples: )
dhaibh [yaiv] luibh [lwiv] m
dhuibh [ywiv] draibh [draiv] .
bhuaibh [vuaiv] saoibh [s¥iv]
(-)Vbh'C() [i]
When a slender bh is between a vowel and a consonant, it is usually (:
[i]. m
Examples: z
cuibhreann [kuiraN] aoibhneas [¥iN'as] rUn
duibhre [dwiria] coibhneil [kyiNial] Py
aibhne [aiNig] cuibhle [kwila]
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(-)Vbh'V(-) [i] B12 Lyl [vl]
When a slender bh is between vowels, normally the outcome is a o bhr' [vf] o
[i]. Common exceptions are the name Daibhidh [daivi], recent _ When a slender bh is followed by an | or r, then the broad/slender ™
loanwords like cleabhar [klever] and draibhear [draiver] and high m rule does not apply to the bh and it will always be [v]. ;
register words like s/éibhe [[Lie:va]. z Examples: o
E les: o .

‘x.amp s . _ _ m bhleoghann [vlo.aN] glé bhréagha [gle: vriia.a] ;
suibheag [susjag] duibhe [duija] A bhleadraig [vledrigl] glé bhred [gle: vrio:]
luibh Lwij ibh kuj .
uibhean [Lujen] cuibheas [kujes] bhliadhna [ViioNs] da bhriathar  [da: vrishar]
MaRuibhe [ma'ruja] luibheach [Lwijax]
: YN (-)bh'(-) ELSEWHERE [v]

u(z) w(:) o(2) ¥() o(:) a(:) au + bh _ [iv] 0 This means that in all those cases where none of the previous rules
A slender bh after a back vowel at the end of the word is normally about bh apply, you can assume that it's going to be [v]. @
[iv] in a stressed syllable. m Examples: g
E les: z . . 9

Xampies _ | _ - bhid [vi:d] uairibh [uariv] m
dhaibh [yaiv] saoibh [s¥iv] m bhithinn [Vi.IN] ciilaibh [ku:L1v]
luibh Lwi ibh i
uib [Luiv] ruib [rwiv] - a bhean [e ven] Gallaibh [gaLiv]
draibh [draiv] craoibh [kryiv]
. ' — . NP D'+ u(z) w(:) o(:) ¥(:) o(:) a(:) au (-) [bjl]
AN DN’ + u() w() o() ¥(:) o() a(:) au () [vi] When you get slender b at the start of a word and it is followed by

When you get slender bh at the start of a word and it is followed by any type of back vowel you get a [bj]. 2]
a back vowel (long, short or diphthong) you get a [vj]. 2] Examples: E

. m ) o]
Exaf"p'efs' _ _ z beothaich [bjo:.1¢] beanntan [bjatNdan] m
bheodthaich [vjo:.1¢] fo bheanntan [fo vjauNdan] % biodh [bj¥y] bearr [bja:R]

hiodh j a bhit T vju:
bhiod vi¥y] da bé ug [da: vju:g] Bearnaraigh [bja:RNaraj] biug [bju:g]
Bhearnaraigh  [vja:RNaraj] bhearr [via:R]
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(-F)+uw:oy:0ra:us +b'(-) [ib] (-)b'(-) ELSEWHERE [b]

This deals with all remaining cases of slender b not covered by the

other rules. It means that when you get slender b at the beginning,
in the middle or at the end of a word in any other environment, it's
simply going to be [b].

Examples:

beaga [begs] rib [Rib]

bile [bils] biadh [biay]

ribe [Riba] beinn [beiN]]

d43AN3ITS

When a slender b is preceded by a long back vowel or back
diphthong then you get [ib]. Other letters may come in front and/or ™
behind the whole group. ;
Examples: o
sglaib [sgLa:ib] [Uib [Luzib] m
slaibeach [sLa:ibax] luibeach [Lu:ibax] -
sguaib [sguaib] roibean [Ro:iban]
bl [bl]

br [br]
When a slender b is followed by an | or r, then the broad/slender ,
rule does not apply to the b and it will always be [b]. @
Examples: %
bleoghann [blo.aN] bréagha [bria.s] A
bleadraig [bledrig] bred [brio:]
bliadhna [bliaNs] briathar [briishar]
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C01 gl [kr™ ]
When you have a ¢ at the start of a word followed by an n (and then
more letters), the n will change to an [r] in pronunciation and the

next vowel will be nasal. The nasality here is important to maintain @

the distinction with words that start with cr, for example crabhach A
[kra:vex] ‘devout’ and cnamhach [kra:.vax] ‘bony’. )C:
Examples: o
chag [krag] cno [kr3:]
cnamh [kra:v] cnuimh [krdiv]
cnoc [kr3xg] cnuaic [krid¢gl]

(IVe(-) [xg]
This rule tells you that when you get a broad c after a vowel in the
middle or at the end of a word, you will get a pre-aspirated group: @
[xg]. This only applies in stressed syllables. g
Examples: >
aca [axge] muclach [muxglLax] o
diuc [diu:xg] glac [gLaxg]
faca [faxga] mac [maxg]

(-)Ve(-) [9] w
In an unstressed syllable, if you have a ¢ after a vowel you do not =T
get pre-aspiration. Case of this are rare. ©)
Examples: :;
adhlac [¥:Lag] tiodhlac [tisLag]

-ehd(- [x9]

When you get -chd either in the middle or at the end of a word, it will

be [xg]. So in spite of the spelling, pairs like sloc and s/ochd are @
pronounced exactly the same. g
Examples: >
achd [axq] a-nochd [0'Noxg] O
uchd [uxg] achdan [axgan]

beachd [bexg] cleachdadh [klexgay]

chn- [xr™]
This rule is very similar to CO1. When you have a ch at the start of a
word followed by an n (and then more letters), the n will change to a

[r] in pronunciation and the next vowel will be nasal. The nasality =
here is important to maintain the distinction with words that start with
chr, for example chrabhach [xra:vex] ‘devout’ and chnamhach ©
[kra:vax] ‘bony’. >
Examples: ©
da chnag [da: xrag] da chno [da: xr3:]

da chnamh [da: xra:v] da chnuimh [da: xriiv]

da chnoc [da: xrdxg] da chnuaic [da: xri5¢gl]
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(-)ch(-) ELSEWHERE [X]
This rule tells you that when all previous rules about broad ch do not
apply, the pronunciation will be [x] at the beginning, in the middle @
and at the end of words. A
E les: ©
xamples: >
chaidh [xaj] cochall [koxal] O
chosg [xosg] ach [ax]
machair [maxir] loch [Lox]
-Ce(-) (9]
When broad ¢ is preceded by another consonant and other letters,
possibly followed by more letters, the ¢ will weaken to a [g]. Many -
speakers have an extra [x] sound in Ic and rc groups, for example: -
olc [oLxg]. @)
Examples: >
O
olc [oLg] banca [banga]
adharc [¥.erg] ascaoin [asgIiN]]
arc [a:rg] falcag [faLgag]
c- ELSEWHERE [k]
If broad c is at the beginning of words elsewhere, it will simply be [k]. @
Examples: X
O
cas [kas] corr [ko:R] >
caran [karan] crag [krag] =
coir [ko:r] clann [kLauN]

cn'- [ k™ ]

This rule is very similar to C01. When you have a slender c at the

start of a word followed by an n (and then more letters), the n will »
change to a [F] in pronunciation and the next vowel will be nasal. As ™
in C01 and CO04, the nasality is important here. Note that the [Kk] is ;
just a broad [k], the broad/slender difference doesn’t apply here. o
Examples: m
cheasta [kriésda] cneas [kriés] A
cnead [kriéd] Cnip [kriT:hb]
cheutag [kriiahdag] cniadaich [kriiddig]
C10 g<i8 [kl

cr'- [kr]
When you get a slender cl or cr group at the beginning of a word,
the broad/slender rules don’t apply to the ¢ and it will always be @
broad [K]. Z

g

Examples: %
cleas [kles] cridhe [krii.a]
clisg [klifg'] crios [kriis]
cli [kli:] creag [krieq]
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(Ve [og']
This rule is very similar to C02. This rule tells you that when you get
a slender c after a vowel, either at the start, in the middle or at the

end of a word, you will get a pre-aspirated group: [¢g]. This also (,2
only applies in stressed syllables. Q
Examples: %
ic lical] reic [Recgdl] 7
mic [micg] faicinn [fecg'IN]]

lic [Liicg] craiceann [krecg'oN]

(Ve 9] o
In an unstressed syllable, if you have a slender ¢ after a vowel you ™
do not get pre-aspiration. Case of this are rare also. 2
Examples: o
adhlaic [¥:L1g] tiodhlaic [tisL1g)] m
ionnraic [jGNer1g] ceimic [Kiem1g] 7

chd'() [9']
When you get slender -chd either in the middle or at the end of a
word, it will be [¢g]. This is rather rare and most frequently appears
as a spelling variant where -ic and -ichd are confused because the 2
pre-aspiration in -ic makes it sounds exactly like -ichd. E
Examples: r?'|
clichd (clic) [Kli:¢gl] gloichd (gloic)  [glLocggd] 7
araichd [aricg] imrichd [imir1cg]
buaichd (buaic) [buacgg’] sginichd [sgiinicg]

chn'- [ xr™ ]

This rule is very similar to C08. When you have a slender ch at the

start of a word followed by an n (and then more letters), the n will »
change to an [r] in pronunciation and the next vowel will be nasal. ™
Note that the ch is just a broad [x], the broad/slender difference ;
doesn’t apply here. o
Examples: m
glé chneasta [gle: xriésda] da chneas [da: xriés] A
da chnead [da: xriéd] Chnip [xriT:hb]
da chneutag [da: xridhdag] chniadaich [xriiddig]
chl'- [xI]

chr'- xfl o
When you get a slender chl or chr group, the broad/slender rules ™
don’t apply to the ch and it will always be broad [x]. 2
Examples: o
da chleas [da: xles] da chridhe [da: xrii.a] m
glé chlisg [gle: xlifg]] da chrios [da: xriis] 7
bhon a’ chli [vona xli:] da chreag [da: xrieq]
(&AW (-)ch'(-) ELSEWHERE [¢c]
This means that when no other specific rules exist for slender ch, it (,f
will be [¢] anywhere else. m
Examples: b
chi [ci:] faiche [faca] >
cheumnaich [ce:mnig] aidich [ad1c] Py
abaichead [ab1cad] fairich [fariig]
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e (9] ()VdhV(-) [
When a slender ¢ is preceded by another consonant, then it will «» This complicated looking rule just means that when you get a broad
weaken to [g]. Many speakers have an extra [¢] sound in lc and ™ dh between vowels, then it is most likely going to be pronounced as
rc groups, for example: circe [Kiri¢ggia]. 2 hiatus. Note the common exception modhail/ [moyal]. %
Examples: o Examples: %
cailc [kalg]] circe [Kiirgia] m adha [¥.9] odhar [0.or]
pairc [pa:rig] failcean [falgian] » cladhadh [kL¥.8Y] crudha [kru.9]
uircean [urigian] coirce [korigia] bodhar [bo.or] rudhadh [Ru.ay]
oV() K] B ()Vdhc() [ ]
When slender ¢ appears at the start of a word and is followed by a After a short vowel (never a diphthong) when you get a broad
vowel, it will be pronounced [KI]. (,2 dh which is immediately followed by a consonant, then the dh itself
Examples: Q will be silent. Check the individual vowels for the effect this has on
cedl [Ko:L] citin [kiu:N] % the Vowe'-_ §
ceum [kie:m] cis [Kii:f] Examples: =
cearr [Ka:R] il [Kii: L] adhbrann [¥:braN] bliadhna [bliaNa]
adhbhar [¥:ver] adhlac [¥:Lag]
laghdaich [Ly:d1g] adhradh [¥:ray]
B0XW (-)Vdh [ ]
When dh follows a long vowel and the dh is at the end of the word, it
will be silent. w
Examples: 8
glaodh [gLwi] sudh [su:] )D>
gradh [gra:] srodh [sdro:]
radh [Ra] cradh [kra:]
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-dh- [¥] Sl () iC) e() () + V() ]
When none of the previous rules about broad dh apply, it will be [y]. @ dh' [ ]
Py
Examples: o When you get slender dh after a front vowel and it is followed by a
dha [ya] dhut [yuhd] > vowel, then you usually get hiatus. If it's at the end of the word, &2
. m
dh'fhas [ya:s] ruadh [Rusy] © there is no sound. z
da dhun [da: yu:n] moladh [moLay] Examples: %
cidhe [Ki.a] déidh [die:]
- cridhe [krii.a] bidh [bi:]
DIOEN (-)d(- d
( )_ ©) . i i [d] gléidheadh [gle:.ay] réidh [Re!]
Broad d just on its own in all other cases will be [d].
Examples: %
o \
da [da] ad [ad] > dhr- [yr]
donn [douN] badan [badan] dhl*- [¥]
dun [du:n] aonad [w:nad] This is another instance where the broad/slender distinction has
been broken. When a slender dh at the start of a word is followed
by an r or |, it is pronounced [y], as if it was broad. In case of a @
m (=) ux) w(z) o() ¥(2) o(:) a(:) us + dh'(V) [i1 dhr, the r will also be broad. Other letters always follow but have no E
. @)
This rule is closely linked with DO7. When slender dh follows a back effect on the pronounciation. m
vowel and is either at the end of a word or followed by a vowel, then Examples:
you usually get a [j]. @ da dhreuchd [da: yriaxg] da dhreach [da: yrex]
Examples: g glé dhriuichdach [gle: yru:xgex]  da dhlighe [da: yli.a]
buidhe [buje] tidh [uzi] & do dhréin [de yre:n] da dhleastanas [da: ylesdenas]
buidheann [bujeN] aoidh [¥jl
draoidheachd  [dryjexg] aigh [ai]]
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m dh'- ELSEWHERE

[d]

In all cases where D08 doesn’t apply, initial slender dh will be [j]

irrespective of what comes after it. )

Examples: Q
=]

a dhith [0i] dheth Lieh] %

da dhinnear [da: ji:Niar] glé dhearg [gle: jereg]

glé dhileas [gle: ji:les] dhealaich [jaLig]

DN[VN dr'- [dr]

dl'- [dl]
Similar to DO8 when a slender d at the beginning of a word is
followed by an r or I, it will be pronounced like a broad [d]. In case if £

. m
a dr, the r will also be broad. Z
=]
Examples: %
dreuchd [driaxg] dreach [drex]
driichdach [dru:xgax] dlighe [dli.s]
dréin [dre:n] dleastanas [dlesdanas]

()0) [d]
Where the previous rules for slender d do not apply, it will be [d] at
the beginning, in the middle and at the end of a word. )
Examples: Q

g
dearg [diereg] aidich [adiig] g
deud [die:d] oide [¥dig]
dinnear [dii:Niar] abaid [ab1d]

(Jea+m, mh, p

[e:]

Either at the beginning or in the middle of a word in a stressed
syllable éa is usually pronounced [g]. %
Examples: g
néamh [NE:v] fréam [frige:m] m
O
néapaigear [Nie:hbigier] séamh [JE:v]
tréamhla [tr€:vLa] séam [J€:m]
S (-)ea- ELSEWHERE [ia]
Either at the beginning or in the middle of a word in a stressed
syllable éa is going to be pronounced [ia]. %
Examples: g
dean [diian] téarainte [tiarINidia] %
O
bréagha [bria.s] easgaidh [iasgi]
créadh [kriay] feath [fia]
SO (-)e(i)(-) VAR: &(i) [e:]
This rule states that when you get é or éi either at the beginning, in
the middle or at the end of a word it will be pronounced [e:]. Note
that there are variant spellings (especially GOC) where é&(i) is c_o|
spelled &(i) so it may be advisable to check in an older dictionary %
when you come across words with &(i). %
Examples: g
éis [ef] glé [gle]
éibhinn [e:vin] l&ir [Le:r]
dé [die:] séideadh [fe:diay]
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Qei-+ rd(), (), m(), rr VAR:&()  [&]

This rule tells you that when you get ei in a stressed syllable,
possibly with letters in front of it, immediately followed by rd, rl or
rn (possibly with letters after) or rr (at the end of the word), then you

get a long [e:]. Note that there are variant spellings where ei is 9'

spelled é&i. Since this is totally predictable, the accent here isn’t I';PI

necessary as you can see in many older publications which leave it %

out. m
(@]

Examples:

meirleach [me:Rlax] geirnean [g’e:RNan]

spéirlig [sbe:RIzg] smeirne [sme:RNa]

meéirdreach [me:Rdrax] méirneal [me:Rnal]

()8 [e:]
This rule is in contrast with E0Q2 but the principle is the same. When
you get & or &i either at the beginning, in the middle or at the end of
a word it will be pronounced [¢:]. Note that in some modern ciJ'
spellings this spelling overlaps with é(i) so you may have to check I_;Igl
with an older dictionary to be sure. 8
Examples: g
gne [griE ] meinn [me:Ni]
séimh [JE:v] sneip [INig:hb]
béicear [be:cgier] stéisean [sde:fan]

eo(i)- [jo:]

When you have e0 or edi at the beginning of a word, then usually
there will be a [j] sound in front of the [o1]. %
Examples: g
eolach [jo:Lax] Edghann [jo:.aN] m

O
eolas [jo:Las] eoin [jo:N]
eodrna [jo:Rn3] eorlain [jo:RLeNT]

-e0(i)- [0:]
When you have -ed or -edi after one or more consonants, it will
simply be long [0:]. %
Examples: g
ceod [kio:] bed [bjo:] g
seol [fo:L] feoir [fjo:r]
bred [brio:] meoir [mjo:r]

-e0(-) [2]
When you have eo in the stressed syllable of a word it will be
pronounced as a short [2]. —
In a few Gaelic words you get an eo in the unstressed syllable of a \%
word as a result of a word with long ed having joined with another C_”|
word or prefix. The result often is also a short [2]. ﬁ
Examples: I_Ccofl
seo [Jo] sgleog [sglog] O
deoch [diox] aineol [aNioL]
cleoc [kloxg] aindeoin [aNion]
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()eu + m(-) [e:] BB ()i + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [e-e]
Rules EO7 and E08 deal with the issue of how to unscramble the nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [e-e]
differe.nt pronunciations of eu. When the eu, at the beginr.wir?g orin o tb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [e-e]
the middle of a stressed syllable is followed by an m then it is most ;—U| | , o
likely going to be [e:]. It will also be [e:] if the word is ‘fancy’. m 7L, ), T, e [e-e] 2
Examples: 8 When ei, possibly with letters in front of it, is involved in a helping
g vowel appearing, you get [e-e]. Other letters may follow. 8
beum [be:m] feum [fe:m] m
Examples: o
jar jiar
eedm [ke:m] leum [Le:m] seilbh [felev] eirbhir [erevir]
Seumas [Je:meas] treun [tre:n] seilcheag [felecag] seirbheis [ferevif]
eilgheadh [elejay] meirg [merieg]]
(-)eu- ELSEWHERE [ia]
When EQO7 does not apply, the eu is most likely going to be - X
. (7] =N (-)ei + I, nn, m [eil]
pronounced as an [ia] diphthong. ;—U|
Examples: m [IC(-), nnC(-), mC(-) [ei]
ceud [kiad] deuchainn [diaxiN] 2 This rule deals with ei (possibly with letters in front of it) which is
_ ) (&) followed either by:
J
meud [miad] deug [diiag] = I, nn or m without anything following them, that is, at the end of o
reubadh [Riabay] eun [ian] a word ;_U|
= I, nn or m which are immediately followed by a consonant and 8
optionally more letters %
In all cases the pronuciation will be [ei]. O
Examples:
beinn [beiN] greim [grieim]
seinn [JeiN]] teinntean [feiNidian]
spreill [sbrieil]] einnsean [eiNifan]
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(-)e(i)(-) ELSEWHERE [e]
When you get
= e at the end of a one-syllable word

= ei either at the beginning of a word or following some letters, (f|
immediately followed by another slender consonant I_;Igl

it will be pronounced [e]. Other letters may follow but don’t have to. %

Examples: g

le [le] greimeag [gremag]

eile [els] seillean [JeLian]

ceist [Kie[d] seinneadair [JeNiader]

Bl R [j]

At the beginning of a word if ea is followed by a dark [L] or [R] then

the word will start with a [j] glide. The vowel itself varies and is ciJ'

covered in rules E16 to E17. I_;Igl

Examples: ﬁ

eala [jaLa] earrach [jaRax] (w]

ealain [jaLeN]] earr [ja:R]

ealbh [jeLev] earlas [ja:RLas]

=MW (-)ea + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [e€]
nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [e-€]
rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [e-€]

mi(-), mr(-), ms(-), mch(-) [e€]
When ea, possibly with letters in front of it, is involved in a helping (f|
vowel appearing, you get [e-€]. Other letters may follow. You will |-;H
also hear [g-a] instead of [e-€] quite a lot. Just be consistent about %
which one you choose yourself. 8
Examples:
dealbh [dieLev] Fearghas [fereyas]
seanchaidh [Jenex] seanmhair [Jenevarl]
dearg [diereq] seamrag [femerag]
(-)ea+ bh [2]

bhV(-) [2.]
After an eabh group at the end of a word, the ea will be [9], if o
another vowel follows (and maybe more letters) then you get hiatus ;_U|
as well. 8
Examples: %
treabh [tro] feabhas [fjo.es] ©
treabhadh [tro.8Y] seabhag [Jo.aq]
leabhar [Lia.ar] steabhag [[dia.ag]
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=l (-)ea + I, nn [au]
lIC(-), nnC(-) [au]
bhC(-), dhC(-), mhC(-) [au]

When ea in a stressed syllable (possibly with letters in front of it) is

followed either by:

= Il or nn without anything following them, that is, at the end of a
word

= |l or nn which are immediately followed by a consonant and
optionally more letters

= bh, dh or mh which are immediately followed by a consonant
and optionally more letters

the pronunciation in all cases will be [au]. Note that in cases of

mhC nasalisation usually also appears.

Examples:

seall [faul] gleanntan [glauNden]
sealltainn [fauLdiNi] leamhrag [Liadrag]
gleann [glauN] geamhradh [g'alray]

a3ss3yis

=K (-)ea(i) + rd(-), rl(-), rn(-), rr, rrC(-) VAR: ea [a]
This rule tells you that when, possibly after some letter, you get
ea in a stressed syllable immediately followed by

= rd, rl or rn (possibly with letters after)

= rr at the end of the word

= rr followed by a consonant (possibly with more letters after)
then you get a long [a:].

Note that there are variant spellings (especially GOC) where ea is
spelled ea, even before rr. Since this is totally predictable, the
accent here isn’t really necessary as you can see in many older
publications which don’t use it. Because it is so well-established, |
have stuck to using a before rl, rd and rn. However, as it's
misleading before rr, | have stuck to the traditional convention of
not writing it.

Examples:

cearnag [kia:Rnag] gegrrte [g'a:Rdis]
cegrr [kia:R] de;rrsadh [dia:Rsay]
Tearlach [fa:RLax] s fhe;irrde [Ja:Rdig]

a3ss3dis
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-ea + [L]V(-), [N]V(-), [R]- NOT before helping vowel [a] (-)ea + dhC(-), ghC(-) [¥:]
When the previous rules about ea do not apply and (possibly after When an ea (potentially with letters in front of it) is in a stressed
some initial letters) syllable that is followed by a dh or gh followed by a consonant (and c£|
= you get dark [L] or [N] followed by a vowel and possibly some possibly other letters), you get a long [¥:] vowel. I';FI
more letters @' Examples: %
" [Rlwhichis followed b.y some letters . ) . |-;|9| teaghlach [ty:Lox] greadhnachas [gri¥:nexas] Q
then you get short [a]. This does NOT apply in rules involving the % oi . P i '
helping vowel (such as E14). - g ille Mheadhrain [kilia'vj¥:reN] gleadhraich [gl¥:ric]
Examples: teadhraichean [ty:rigen] meadhrach [mj¥:rax]
bealach [bjaLax] ceannach [kiaNax]
sealladh [JaLay] ceart [kKiaR(d] =¥ (-)ea + s(-), d(-), g(-) [e]
gealladh [giaLay] gearradh [gaRay] When ea (potentially with letters in front of it) in a stressed syllable
is followed by a s, d or g either at the end of the word or followed by c_o|
other letters, it will be pronounced [e]. %
(-)ea + dh(V-), gh(V-) [¥] Examples: &
When an ea (potentially with letters in front of it) is in a stressed eas [es] ceadaich [Kedic] g
syllable that is followed by a dh or gh either at the end of the word or " |
followed by a vowel and possibly other letters, you usually get an [¥] ciJ' measal [mesal] beag [beg]
vowel. There are quite a few exceptions, most notably the word | eadar [edar] leag [Leg]
meadhan [mi.an]. 8
. m
Examples: o XY (-)ea(i)- ELSEWHERE [€]
" _
seadh [fxy] an eadh? [o N'xy] In all those cases where the previous rules about ea in a stressed
feadh [fi¥y] feadhainn [fi¥yIN] syllable do not apply ea will be pronounced [g] at the beginning of a
leagh [Livy] leaghadh [Liv.ay] word or following other letter or letters and always followed by more c—D|
. . P
letters. Note this rule most frequently contrasts with E21. g
Examples: r(ﬁ
eabar [ebar] geama [g'ema] o
each [ex] fear [fer]
creach [kriex] Peairt [peR[d]
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-eil(-) [al] -ea- [a]
This ending in an unstressed syllable will have clear [a]. Other c When you get ea in an unstressed syllable (which means it is
letters may follow. % always preceded by other letters) and always followed by another
Examples: a letter or letters, then it will most frequently be pronounced as a weak %
. : )
ainmeil [enemal] cridheil [krii.al] g)) [8]. The only common exception to this are some of the special 5‘
o _ o ) m endings, such as the diminuitives -eag and -ean. m
caisteil [kafdial] fritheil [frihal] o 23
Examples: %
ianail kiianal inneil Nial
clanai [kianall sgoinnet [sg¥Nal] cuireadh [kuriay] abhaisteach [a:vi[diax] o
bitheanta [bihaNda] inneal [iNiaL]
-eid(-) [ad'] tuilleadh [twlioy] fidheall [fi:.oL]
This ending in an unstressed syllable will have clear [a]. Other c
letters may follow. %
Examples: a -eig(-) [eg']
aiseid [afad] réisimeid [Re:f1mad] a -ein(-) [eN]
|'|'| . .
rosaid [Ro:sad] ribheid [Rivad] o When in an unstressed syllable the endings -eag and -ean are %
o _ ] ) o slenderised for whatever reason, you get [€]. Other letters may
boineid [bonad] aimhreid [airad] .
follow. I_JIQI
Examples: &
m
=l -eag(-) [ag] Ailein! [aleN] caileige [kalegia] O
-ean(-) [an] A Chailein! [ xaleN]] boiseige [bofegia]
These two endings in an unstressed syllable will almost always have - binnein [biNiEN] binneige [biNegia]
clear [a]. Remember that in the case of -ean that only applies when %
it's not a plural ending! Other letters may follow. The main ;—Ui
exception for -eag is aiseag [afeg]. m
Examples: rUr%
@]
Ailean [alan] caileag [kalag]
Cailean [kalan] boiseag [bofag]
binnean [biN‘an] binneag [biN‘ag]
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When you get e(i) in an unstressed syllable at the end of a word fhr- [r]

(i) (o] - [L]

then it will be pronounced as a weak [s]. Note that this [9] is always % Broad fh at the beginning of a word in these groups will be silent.
in danger of disappearing (see Error! Reference source not found.). 3 Even though | and r are therefore the first sounds of such words,
Examples: m they will behave as if they were in the middle of a word so you get 3
caise [ka:fo] aite [a:hdis] ,-(ﬁ [L] (there’s only one broad I, remember?) and weak [r]. §2
eaglaise [egLifo] céile [kie:la] ° Examples: °
cidhe [kii.a] buille [buLia] da fhlasg [da: Lasg] da fhras [da: ras]

da fhlath [da: Lah] da fhrog [da: ro:q]

glé fhlagach [gle: Lagax] da fhraoch [da: rw:x]

S0 (-)fh- [ ]

Broad fh either at the beginning of a word or in the middle is going
to be totally silent in almost all cases. Fully dropping a sound feels
weird to many people but it's no weirder than dropping the k in knife.
The only exceptions are fhuair [huaer] (and other forms of the verb
which begin with fhua-), fhathast[ha.esd] and fhalla [haLa].

Examples:

(a) fhalt [aLd] d’ fhaileadh [da:lay]
(a) fhuil [ul] co-fharpais [ko'arbif]
(a) fhear [er] dh’fhalbh [yaLav]

avouyd
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() [f] B 1 + u() W) o(:) ¥(2) o(2) a(:) au ]
Broad f either at the beginning of a word, in the middle or at the end When broad fh is lenited (see F01) it completely disappears. But
is going to be simply [f] in all cases. w the two different kinds of slender f behave differently depending on
Examples: 8 what comes after. As a slender f followed by a back vowel results in 0
falt [fald] diofar [diifor] :‘5 [fj] (see FO5), when you lenited the f away you're left with a [j] at @
) ) ) the start of the word. That’s what this rule tells you. o
fuil [ful] riof [Rif] m
Examples: Py
f foN f
galann [gafaN] gra [graf] m’ fheoil [mjo:I] glé fhiughantach [gle: ju:.eNdax]
da fheorag [da: joirag] m’ fheadhainn [mj¥yINi]
FO4 Nty [1] da fhearna [da: ja:Rns]  glé fhealltach  [gle: jauLdex]
fhr'- [r]
When you have a slender fhl or fhr group, the broad/slender rules )
don’t apply to the fth and it will always behave like a broad fh. Ina ¢, ALl 1 ELSEWHERE _ _ [ .]
lenited fhr group the r behaves rather oddly and is usually a weak m In those cases where FO3 doesn't apply, slender lenited fh is going
but non-palatal [r]. % to be totally silent. That is, in front of front vowels such as [i] [i:] [€] 0
Examples: % [e] [€] [e:] etc. The only exception is fhéin [he:n]. @
. E les:
fhreagair [reg1r] da fhleasgach [da: lesgax] xamples r?-|
. [é fhi h le: i "th : Py
da fhreiceadan [da: regg'adan] da fhleadh [da: I¥y] gle fhiosrac [gle: israx] M iheum [me:m]
5 fhiri CirINi |
da fhrith [da: ri] glé fhliuch [gle: lux] glé fhirinneach [gle: i:fINaX] fheara! [era]
da fheadag [da: edag] da fheusag [da: iasag]
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Fo7 [ [1] (-)VghV(-) [ ]
fr'- [ fri] This means that when you get broad gh in between vowels,
When you have a slender fl or fr group, the broad/slender rules don’t ¢, optiohally ‘f"ith more letters in front and behind, t-he result is going to
apply to the f and it will always behave like a broad f. - be hiatus in most cases. Some of the exceptions you're likely to
Examples: % encounter soon are /aghail [Lxyal], leughadh [Lie:vay] and eughachd %
fi i fregrr fl h fl % fe:vaxgl >
reagair [fregir] easgac [flesgax] Examples: o
freicead fregg'ad fleadh fl
reiceadan [frecgradan] ea [fvy] bogha [bo.5] sughadh [su:.ay]
frith frii: fliuch fl
r [fri: ue [flux] aghaidh [v.1] leaghadh [Liv.oy]
taghadh [ty.aY] deoghail [dio.al]
SO '+ u() w(:) o(:) ¥(:) o(:) a(:) au [fil
A slender f at the start of a word is followed by a back vowel, the =
resulting pronunciation is [fj]. @ S (-)VhC(-) YRS Y []
Examples: g After a short vowel (never a diphthong) when you get a gh which is
N . . . % immediately followed by a consonant, then then gh itself will be
feoil [fjo:l] fiughantach [fju:.oNdex] Py silent. Check the individual vowels for the effect this has on the
fearna [fja:Rng] feadhainn [fi¥yIN'] vowel. Note that some people choose to write this combination with o
fedrag [fjo:rag] fealltach [fjauLdax] a grave over the vowel. g
Examples: O
(-)f () ELSEWHERE [f] rgghnaich [Ro:nig] foghlam [fo:Lem]
In all cases where none of the other rules about slender f apply, it foghnadh [fo:nay] Dughlas [du:Les]
will simply be [f] both at the beginning of a word, in the middle or at 0 Ilujghdaich [Lu:dig] Lﬂjghdar [u:dor]
the end. M
Z
Examples: o
m
fiosrach [fisrax] éifeachd [e:foxq] X
feadag [fedag] taifeid [tafrd]
feusag [fiasag] An Rif [e Rif]
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[ClIXN (-)ugh
(-)ugh

At the end of a word when you get u or U before the broad gh, the

gh is going to be silent. %
Examples: JC>)
ugh [u] an-diugh [eNi"diu] °
sugh [su:] ordugh [0:Rdu]

brugh [bru:] tiugh [tu]

el)” ghn- [yr]
This rule is similar to the rule about chn-. When you get broad ghn-

at the beginning of a word, the n will become [r] and the next vowel
will be nasal. 2
Examples: §2
da ghnuis [da: yra:f] da ghnaths [da: yra:s] o
da ghnog [da: yrog] da ghnag [da: yrag]

da ghnust [da: yrii:sd] da ghnamhan  [da: yra:van]
(-)gh(-) ELSEWHERE [y]

In all other cases where G01-04 don’t apply, gh is going to be

[¥] both at the start and at the end of words. w
Examples: 8
ghlan [yLan] agh [a:y] )D>
ghoid [y¥d] dragh [dr¥y]

truagh [truay] laogh [Lwy]

G06 el [or ]
This rule is similar to the rule about cn-. When you get broad gn at
the beginning of a word, the n will become [r] and the next vowel will

be nasal. %
Examples: ,2
gnuis [griif] gnaths [gra:s] o
gnog [grog] gnag [grag]
gnust [grii:sd] gnamhan [gra:van]
Ul ()90) [9]
In all other cases broad g at the beginning, in the middle and at the
end of words will simply be [g]. o
Examples: 8
glas [gLas] magadh [magey] JU>
gorm [gorom] bog [bog]
baga [bags] marag [marag]
() e()e()+ ghV() [ ]

gh' [ ]
When a slender gh follows a front vowel and is then itself followed
by another vowel (and potentially more letters), the gh is going to ¢,
show up as hiatus. At the end of a word, slender gh will be silent m
following those vowels. %
Examples: %
tighinn [ti.IN]] lighiche [Lii.1ga]
leighis [Ue.1f] righ [Ri:]
greigheach [grie.ax] leigh [Le]
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gh'C()

[i] c12 Fie

[yr™]

If you have a slender gh before a consonant, the gh will turn into This rule is similar to the rule about slender chn-. When you get
(‘'vowelise’) to [i]. ) slender ghn- at the beginning of a word, the broad/slender rules do
Examples: E not apply to the gh and it will always be a broad [y]. The n will (,L’
=] ; m
saighdear [s¥idier] maighdeann [myidioN] % become [r] and the next vowel will be nasal. %
maighdeag [myidiag] faighnich [fyinig] Examples: %
. N R . . o
slaightear [sLyidier] oighre [xirio] da ghniomh [da: yridv] da ghné [da: yrE:]
da ghniomhar  [da: yridver] glé ghnéitheil [gle: yr€.al]
- glé ghniomhach [gle: yrigvex] da ghniobann  [da: yridban]
gh'(V-) ]
If you have a slender gh
= between vowels G13 KLl [i]
= oratthe end of a word 0 When G10 does not apply, slender gh- at the beginning of a word is
then it will usually be [j]. Ifitis in an unstressed syllable, then itisa [ going to be [|]. ‘,2
special endings and is silent, for example: dachaigh [daxi]. % Examples: g
. m @)
Examples: Py mo ghiomach  [me jimex] glé gheur [gle: jiar] m
laighe [Lajs] doigh [do:]] da gheas [da: jes] ghitlain [ju:LeN]
aoigheachd [¥joxg] faigh [fai] ghéill [ie:L] da gheamhradh [da: jadrey]
braigh [bra:j] bloigheag [bLojag]
G14 & [gl]
G11 L [¥l] gr- [gr]
ghr- [yr] When you get slender gl- or gr- at the beginning of a word, the
When you get slender ghl- or ghr- at the beginning of a word, the broad/slender rules do not apply to the g and it will always be a @
broad/slender rules do not apply to the gh and it will always be a (.Q broad [q]. E
m
broad [y]. = Examples: %
Examples: o glic [glicg] grian [grian]
glé ghlic [gle: ylicd] da ghrian [da: yriian] gleac [glexg] greis [grief]
ghleac [¥lexg] da ghreis [da: yref] gleann [glauN] greannach [greNax]
da ghleann [da: ylauN] glé ghreannach [gle: yrieNax]
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G15 Feliie [gr™] h- [h]
This rule is similar to the rule about slender cn-. When you get The letter h rarely appears in the basic form of words in Gaelic, with
slender gn- at the beginning of a word, the broad/slender rules do the exception of place-names borrowed from Norse perhaps, and
not apply to the g and it will be a broad [g], the n will become [r] and £ most commonly shows up after certain forms of the article
the next vowel will be nasal. Q possessives and other particles. Either way, there is no
Examples: % broad/slender difference with h at the beginning of a word.

)
gniomh [griiav] gné [grig:] Examples:
gniomhar [griidver] gnéitheil [grig:.al] hama [hamsa] Hiort [hiR[d]
gniomhach [griidvex] gniobann [griidban] na h-adan [na hadan] na h-eaglaisean [na hegLifon]

a h-aran [e haran] a h-each [e hex]

(-)g'(-) ELSEWHERE [g]
In all those cases where the previous rules about slender g do not
apply, at the beginning, in the middle and at the end of words it will 0
be [g]. m

z
Examples: O

m
gille [giilis] eige [egia] X
geama [g'ema] leig [Led]
sligeach [JUiig'ax] aisig [afzg]
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['XE (-)io + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [i-i] [V io + nn- [jul
nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [i-i] nnC(-) [ju:]
rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [i-i] When an io at the beginning of a word is followed by nn you get 0
mi(-), mr(-), ms(-), mch(-) [i-i a [ju] sound (oghe.r Iet't”e;]s may Ifollow. the io). dIf the nn is followed by r;_P:
When io, possibly with letters in front of it, is involved in a helping a consona.nt,t e lo will have a long [ju:] sound. %
vowel appearing, this is usually [i-i]. Other letters may follow. (_”| Examples: g
The exact vowel combination can vary quite a bit from area to area ionnas [juNas] ionnsramaid [jG:Nsdramid/]
and depending on what comes next, the most common alternatives % ionnairidh [juN1r] ionnsaigh [jG:Ns1]
. ) : ) . . m
being something like [i-I] or [i-8]. Remember the most important QO ionnsaich [j:NsIg] ionndrainn [j:NdrINT
thing is to have an extra vowel!
Examples:
iomradh [imiroy] tiormaich [tirimig] -io+ 1IV(-), nnV(-) VAR:iu [u]
ionmhas finives] MacFhionghain [max'giniyeN] This rule deals with non-initial io followed by Il or nn which are
] o . ] o immediately followed by a vowel and optionally more letters
iomlan [imiL.an] lomchaidh [imix1] In all cases the pronunciation will be short [u]. Note that in some ¢,
cases the spelling has started to catch up with the pronunciation, ;_u'
L . m
io + dhi(-), I(-), lI(-) [ju] using iu instead of io. o
When an io at the beginning of a word is followed by a dhl, | or Examples: Q
Il, you usually pronounce this as [ju]. Other letters may follow. % giollachd [g'uLaxg] mionnaich [mjuN1c]
Examples: i sgiollag [sgiuLag] sionnach [fjuNax]
. . . . 17}
iodhlann [juLaN] iollagach [juLagax] g fionnar [fjuNer] rionnag [RuNag]
iolaire [juL1ris] iolra [juLre]
iolach [juLex] iola [juLa]
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g (-)io+ I, nn, rr [u]
IIC(-), nnC(-), rrC(-) [u:]
rd(-), rl(-), rn(-) [u]

This rule deals with io (possibly with letters in front of it) which is
followed either by:

= I, nn or rr at the end of the word 9'
= I, nn or rr which are immediately followed by a consonant and I';‘I'JI
optionally more letters e
= rd, rl or rn, optionally followed by other letters g
This is usually very nasal if the nn is followed by a consonant.
Examples:
fionn [fju:N] tionndadh [tG:Nday]
0s cionn [0s kiu:N] sgiorrtachd [sg'u:Rdexg]
lionn [L'u:N] giornalair [glu:RnaLer]
EZH oo + b0, b [i]
When you have io (possibly after other letters) followed by a b or
. . (7}
bh and possibly more letters after, you get long [i:]. ;—U|
Examples: g
sgriob [sgrii:b] sgriobh [sgrii:v] m
(@]
bioball [bi:bal] siobhalta [fi:veLda]
piob [pi:b] priobhaideach [pri.vidiax]

[oramm (-)io- ELSEWHERE [is]
If 106 does not apply, io is going to be pronounced [is] in a stressed
syllable, either at the beginning of a word or following some initial c£|
letters. Y
m
Examples: g
ioghnadh [isnay] lion [Lian] Q
ioc [iaxg] cioch [Kiiax]
iosal [iesal] spion [sbien]
m (-)i(-) ELSEWHERE [ir]
When none of the other rules about i apply, then it will be simply
long [i:] in a stressed syllable at the beginning of a word or following c_o|
some initial letters. %
Examples: cmo
iseal lifol] cir [Kii:r] g
ine [i:ng] Sine [fina]
ire [i:re] cli [Kli:]
100 [T ]
This rule deals with iU and iui at the beginning of a word. Both
combinations may be followed by other letters. There will usually be g>|
a glide in pronunciation before the iu(i) so you get [ju:]. I';FI
Examples: g
il [u:] itlag [ju:Lag] g
iudhach [ju.ex] iul [ju:L]
Poll [u [poLju:] iuras [juires]
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A0G)() [us] u- [iu]
When it and itui are preceded by other letters in a stressed syllable, When you get iu at the beginning of a word, it will be pronounced
they will both just be [u:] in pronunciation. % [ju]. This is not a very common initial combination. %
Examples: g Examples: g
cilineas [kiu:Nias] cliu [Klu:] m iutharn [juhaRn] iurpais [jurbf] m

(@] O
siuil [Ju:l] fiu [fju:] iuchair [juxzr] iubhar [ju.er]

stitirich [ [diu:rg] diu [diu:] iullagach [juLagax] iulla [juLs]

(AW (-)iu(i) + I, nn, m, rr VAR: iu [u:] -iu- [u]
IC(-), NnnC(-), mC(-), rrC(-) [u:] An iu in a stressed syllable, with letters before it and after it, is just
rd(-), ri(-), m(-) [u] going to be a short [u] in pronunciation. %

: m
bhC(-), mhC(-) [u] E_"amp'es' _ | »

This rule deals with iu (possibly with letters in front of it) which is fliuch [flux] tiugh [tu] m

followed either by: siubhal [Ju.al] piuthar [pju.or]

= I, nn, m or rr at the end of a word an-diugh [aNI'diu] triubhas [tru.as]

= I, nn, m or rr followed immediately by another consonant and @

then optionally more letters ;—U|

= rd, rl or rn which can be followed by more letters m ERN (-ia(i)(-) ELSEWHERE [io]

= bh or mh immediately followed by a consonant and then % When you have ia or iai in a stressed syllable, either at the

optionally by more letters o beginning or following some letters and optionally with more letters

In all cases the pronuciation will be long [u:]. As with A06 and E17, following, then it is most likely going to be [ia]. It can sometimes be %

I'm sticking to the traditional spelling of not using the grave on iu [ia] but it's not possible to predict exactly. g

before rr as it would lead to misleading spellings. Examples: rcﬁ

Examples: iarraidh lioR1] miann [mieN] o

ciurr (ciurr) [Ku:R] siurdan [Ju:Rdan] iar [ier] biadh [biay]

rium [Fu:m] iubhrach [juirax] iarann [iRaN] grian [griien]

ilanntachd [ji:Ndaxg] piurna [pju:RNa]
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KWl (-)i +  Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [i-i]
nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [i-i ]
rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [i-i ]
mli(-), mr(-), ms(-), mch(-) [i-i]

When i, possibly with letters in front of it, is involved in a helping

vowel appearing, this is most commonly [i-i]. Other letters may

follow.

Examples:

gilb [diilib] inbhe [iniva]

imleag [imilag] tilg [tilig'

timcheall [timigal] inghear [inijor]

a@3ss3dls

M (-)i+ Il,nn, m VAR: i [ir]
IC(-), nnC(-), mC(-) [i]
(-)bhC(-) [i]

An i (possibly with letters in front of it) which is followed either by:

= I, nn or m at the end of the word

= I, nn or m which are immediately followed by a consonant and

optionally more letters

= bh which is immediately followed by a consonant and optionally ¢
more letters ;_U|

In all cases the pronuciation will be long [i;]. As explained in A06, g

E17 and 111, I'm avoiding the bad modern habit of using a grave g

over the i as the length is totally predictable. If you do use the grave

in such cases, you must remember not to write it when there is a

vowel following as this will render the i short.

Examples:

tll [ti:L] im [i:m]

fillte [fi:Lidis] impidh [i:mbi]

binn [bi:N/] sibhse [five]

kira (-)i(0)(-) ELSEWHERE [i]

When none of the previous rules about combinations with i apply,

. L . . (V)
both i and io in a stressed syllable are going to be [i] ;—U|
Examples: g
ciste [Kifdia] lios [Liis] g
thig [higT] cille [KiLia]
dlighe [dli.8] ime [ima]
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-i- UNSTRESSED

A simple rule for i for a change.
will be [1].

Examples:

litir [Lihdizr]

fuirich [furiig]

airidh [ari1]

[1]

If you have i in an unstressed

aisig
Mairi

neoini

[aj1g]]
[ma:ri]
[Nioni]

syllable, preceded and followed by other letters, the pronunciation

d3sSSs3d1LSNN

SO (-)I(-)
-II(-)

[L]
[L]

Broad |, irrespective of how many there are and in what place in the

word it is will always be [L]. This includes positions where you might m

expect lenition. 8
>

Examples: O

lag [Lag] balla [bals]

da luchag [da: Luxag] call [kaul]

mala [maLs] cal [ka:L]

i

A slender | at the beginning of a word which has been lenited

(meaning if it comes after a word that causes lenition or is in a spot

where words are normally lenited such as past tense verbs) will be @

pronounced as a weak [l]. g

Examples: an
Py

mo leabaidh [ma lebi1] da leac [da: lexg]

do léine [de lemns] leum e [lexm €]

da lighiche [da: li.1igo] lione [lien €]

LO3 & [L]

A slender | at the beginning of a word which hasn’t been lenited will

be pronounced [L]. The only exception to this are the forms of le

‘with” which have weak [1]. M
z

Examples: g
m

leabaidh [Liebr] leac [Uexg] PY

léine [Lie:ng] leum! [Lie:m]

lighiche [Li.z¢a] lion! [Lian]
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) (U] Wl (-mhc) "]
A double slender Il which is in the middle or at the end of a word will A broad mh before a consonant will result in nasalisation on the
always be pronounced as a palatal [L]. ‘,L’ preceding vowel. The mh itself is not pronounced anymore. The
Examples: E nasality as always can spread to other vowels too but that isn't
O ; Py
gille [giLs] cill [Ki:L m obligatory. o
. - E les:
tilleadh [tiLioy] ill [ti:L] xamples ) | 3 ©
tuilleadh ltwLisy] foill [fyil] comhla [ko:La] cuimhne [kwinas]
comhradh [kd:ray] umhlachd [G:Lexq]
samhradh [salrey] comhdach [k&:dax]
1) (]
A single slender | in the middle or at the end of a word will always be
pronounced as a weak [I]. 2 o2y (-) + u(:) o(:) o(:) + mhV(-) [7]
Examples: Q When you have mh in between vowels, it turns into hiatus if the
gile [gila] cail [ka:l] % vowel in front of the mh is one of those back vowels in the list
. . above. Other letters may be in front and behind and the vowels
uile [ulg] anail [anal] by
near the mh usually have become nasal. o)
baile [bals] toil [tol] Examples: JU>
cumhang [kG.eng] comhairle [kd.eRLig]
cumhachd [kd.axg] dumbhail [dh:.al]
romham [r6.em] Comhall [k3:.eL]
\VER (-)mh(-) ELSEWHERE [v]
Elsewhere (when M01 and M02 don’t apply) broad mh is going to be
[v]. Itis often accompanied by nasalisation but not always. w
Examples: 8
>
mhol [vol] néamhaich [NiE:vig] O
glé mhor [gle: voir] lamh [La:v]
amhach [avex] aireamh [a:rev]
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(Im() [m] (1) () £() + mn'() [v]

A broad m, no matter where in a word it appears, will always be [m]. When you have a slender mh after a front vowel the mh will be [v].
Examples: % Other letters may follow or precede the whole group. ‘,2
mol [molL] sedmar [ fo:mar] % Examples: %
mor [mo:r] lom [Loum] séimh [fev] gainmheach [genevax] %
amar [amar] balgam [baLagem] séimhich [Je:vig] nimh [Niiv]

Cill Rimhinn [KiL ri:vINi] nimheil [Niival]
WVl mh' + u(:) w(:) o(:) ¥(:) o(:) a(:) au (-) [vi]
At the beginning of a word, slender mh will be pronounced [vj] if it is WY (-)mh'C'(-) [7]
followed by a back vowel. @ Before another consonant (and possibly more letters), slender mh
Examples: E will be pronounced [1] with nearby nasality. (,L’
mheall [vjauL] mo mhitig [me vju:g] % Examples: %
da mhedir [da: vjo:r] da mheann [da: vjauN] gaimhleag [gailag] laimhsich [La:jjic] iy
mheodraich [vjo:rig] da mheamhran [da: vjadran] cuimhne [kaiiN's] naimhdean [Na‘id'sn]

doimhne [d¥ina] aimhreit [&irad]
V[ mh' + ELSEWHERE [v]
When MO05 doesn’t apply, initial slender mh will just be [v] 0 \OCN (-)mh'(-) ELSEWHERE [(j]
Examples: m Elsewhere (between vowels or at the end of a word), slender mh will
mhill [Vi:L] mheilich [ve:lig] r$-| usually be pronounced [j] with nearby nasality. I'('LI')I
mhinich [viinig] mheasgaich [vesgic] & Examples: %
mheal veL] mheuraich viarzg] coimhead [k3jad] coimheach [k3jex] %

roimhe [r3js] cléimh [kL3:j]

troimhe [trjo] uaimh [G3)]
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AR m' + u(z) w(:) o(:) ¥(:) o(:) a(:) au (-) [mj] NO1 BB [n]
At the beginning of a word, slender m will be pronounced [m]] if it is A broad n at the beginning of a word which has been lenited
followed by a back vowel. ) (meaning if it comes after a word that causes lenition or is in a spot
Examples: E where words are normally lenited such as past tense verbs) will be g
O Py
meall [mjauL] milg [mju:g] % pronounced as a weak [n]. o)
. o . Examples: -
meoir [mjo:r] meann [mjauN]
- . - mo nabaidh [ma na:bi] da not [da: nohd]
meoraich [mjorrig] meamhran [mjadran]
mo naire [ma na:ris] glé nuadh [gle: nuay]
. do nos [de no:s] do nuallan [de nualLan]
(9 u() w(:) o) ¥() o) a() ue +m'() [im]
When you have a slender m after a back vowel (and possible more
letters) then you get an extra vowel before the m: [im]. 2 n- [N]
Examples: Q Broad n at the beginning of a word is, barring a few exceptions,
D .
muime [muima] daocimean [d¥iman] o always going to be strong [N] @
. Py
: . : . Examples: o)
caime [kaima] luime [lwima] >
: . . . nabaidh [Na:b1] not [Nohd] O
maoim [myim] fuaim [fusim]
naire [Na:ria] nuadh [Nuay]
nos [No:s] nuallan [NusLan]
(-)m'(-) ELSEWHERE [m]
When none of the other rules about slender m at the beginning, in
the middle or at the end of a word apply, then it will simply be [m]. )
Examples: Q
g
minich [mi:nig] caismeachd [kaJmaxg] g
measgaich [mesgi¢] im [im]
ime [ima] ainm [enem]
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-n(-) [N]

When you have a double nn in the middle or at the end of a word it
will always be a strong [N]. Before a consonant this often is
nasalised away in spoken Gaelic (for example cunnias [ki:das]

instead of [kii:Ndas] but that's not something you have to do to have %
a good accent. g
Examples: =
gunna [guNa] fann [fauN]
cunntas [kG:Ndes] srann [sdrauN]
annasach [aNesax] comann [komaN]
-ng(-) [ng]
A broad ng in the middle or at the end of a word is usually going to
be pronounced [ng]. In a few cases the ng has been nasalised @
away. Py
O
Examples: >
long [Loung] cumhang [kG.eng] O
rung [Rung] eang [eng]
teanga [fenga] Frangach [frangax]
-nt(-) [Nd]
A single broad n followed by a t in the middle or at the end of a word
will strengthen to [Nd]. w
Examples: 8
>
cantainn [kaNdIN/] bitheantas [bihaNdas] O
fantainn [faNdINT] fileanta [filaNda]
cumanta [kumaNda] coileanta [kolaNds]

() [n]

A single broad n in the middle or at the end of a word is going to be
weak [n]. The main exception to this are all forms of the definite

article an or words which contain the definite artilce an. %
Examples: ,2
cana [kana] can [kan] o
dunadh [du:nay] dun [du:n]

sona [sona] son [son]

n- (n]

A slender n at the beginning of a word which has been lenited
(meaning if it comes after a word that causes lenition or is in a spot
where words are normally lenited such as past tense verbs) will be ‘,2
pronounced as a weak [n]. g
Examples: r?'|
mo nead [ma ned] da neul [da: nial] 7
da neasgaid [da: nesgid] mo nighean [ma ni.an]

do néamh [de nE:v] dani [da: ni:]

(V]

A slender n at the beginning of a word which hasn’t been lenited will

be pronounced [N/]. There are a few exceptions but not many. (,L)
Examples: E
nead [Nied] neul [NiiaL] %
neasgaid [Nlesg1di] nighean [Nii.an]

néamh [N'E:v] ni [Nii:]
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n'() [N]

A slender nn in the middle or at the end of a word will be palatal [N/].
The main exceptions are the forms of /nnis [i:f]. )
Examples: Q
cinneadh [KiNiay] beinn [beiN]] %
bainne [baNis] cinn [ki:N']

beinne [beNia] tighinn [ti.IN]

-ng'() [ng]

A slender ng will usually be pronounced as a palatal [n'g]. There
are some cases where slender ng has nasalised away in the middle
of a word, for example in aingeal [ajsL]. m
Examples: %
cuing [kwinigl] luinge [lwinig'a] %
farsaing [faRsInig]] Cingidh [Kinig'1]

tarraing [taR1in'g)] aingidh [ainigi1]

() () w() o) ¥() o() () ia us + n'() [N]
When a single slender n (including a group that has n in it) follows a
back vowel, you get a palatal [N/]. @
Examples: E
caineadh [ka:N'ay] coin [koN] %
uine [u:Nig] uaine [uaNig]
faoin [fur:NT] cuirn [ku:RN]

') [n]

When none of the other rules about single slender n in the middle or
at the end of a word apply, then you just get weak [n]. Remember

that some speakers have extended rule N10 to the long front vowels 2
[i] [e:] and [g1]. z
Examples: I'?'I
léine [Lie:rng] sin [fin] ?
gréine [griens] fhéin [he:n]
Sine [fizna] lin [Liizn]

(-)o(i)(-) VAR: 0 [o:]
This rule deals with 6 and 6i, optionally with letters both in front and
after. In all cases, this will be round [o0:]. Note that in some modern
spellings the 6 has been replaced with & throughout so you may %
want to check the spelling in an older dictionary. g
Examples: I_Cf_JI
b6 [bo:] ledbag [Lio:bag] o
coig [ko:d'] mor [mo:r]
co [ko:] Démhnall [d6:.aL]
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(-)o + rd(-), rl(-), rn(-), rr VAR: 0 [o:]

When you get the letter o, possibly after some initial letters, in a
stressed syllable and immediately followed by an rd, rl or rn (which
may or may not be followed by other letters) or a double rr at the
end of a word then you get a long [0:]. Note that some people put a

(%)}
grave over the vowel to show the length but since the length can be ;J'
fully predicted from the consonants nearby, that's not really 3
necessary. r‘{-’.
O
Examples:
C(O)I'I' [ko:R] dornan [do:RNan]
tarr [to:R] ord [0:Rd]
dorn [do:RN] dorlach [do:RLax]
(30)0) [o:]
When you have 0 or 0i, optionally with letters both in front and after,
it will be pronounced [0:]. Note that in some modern spellings O01 ¢
. —
and O03 have been merged and are now ambiguous. ﬁ
Examples: g;
. . . m
og [0:9] pog [po:g] O
oran [o:ran] bed [bjo:]
coisir [ko:fzr] ceod [kio:]

(010”8 (-)oi + IIV(-), nnV(-) [¥]

In a stressed syllable, possibly following some other initial letters,

oi before Il and nn will be [y] if there is a vowel immediately after. c£|

Other letters may follow. I';FI

Examples: §

cloinne [kKL¥Nis] coille [k¥Lis] (w]

coinnich [k¥Niig] soilleir [s¥Lizr]

sgoinneil [sg¥Nial] broilleach [bryLiax]

O M (-)oi + I, nn, m [¥il]
[IC(-), nnC(-), mC(-) [¥i]
bhC(-), dhC(-), ghC(-), mhC(-) [¥i]

This rule deals with oi (optionally with letters in front of it) which is

followed either by:

= I, nn or m without anything following them, that is, at the end of

a word B

= I, nn or m which are immediately followed by a consonant and I.;F.’,

optionally more letters %

= bh, dh, gh and mh which are immediately followed by a g

consonant and optionally more letters
In all cases the pronunciation will be [¥i].

Examples:

roinn [R¥iN]] toinnte [tyiNidia]
foill [f¥il] doimhneachd  [d¥inaxg]
oillt [¥iLid]] oighreachd [¥irieaxg]
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B oi + mhve) (5] Rl ()oi +  Ib(-), Ibh(-), Ich(-), Ig(), Igh(-), Im(=), Imh(-) [ ¥-¥]
When an oi, possibly after some letters, in a stressed syllable is nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [¥-¥]
followed by mh and then by a vowel and possibly some more letters, @ tb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [ ¥-¥ ]
you get a nasal [3]. Py ’ ’ ’ ’ ’ ’
m I(- -), -), mch(- -

Examples: h mi(). mr-), ms(), meh() g

. B ) B m When rule O07 applies to the oi group and oi is [¥], then, if a helping =g
coimheach [kSjex] coimhearsnach  [kjeRsnex] O vowel appears, this will give you [¥-¥]. Other letters may be in front 8
roimhe [r5j9] troimhe [trSje] of the whole group and/or follow. @
coimhead [k3jad] croimheal [kr3jaL] Examples:

doirbh [dy¥riyv] Foirbeis [fyr¥bif]
oYM (-)oi + bh(-), d(-), dh(-), gh(-) [¥] doilgheas [d¥l¥jes] soirbheas [s¥riyves]
HIATUS [¥] coirb [k¥riyb] stoirm [sd¥riym]

This rule is as messy as it looks. The problem is that oi, which used
to be [0] across the board has been gradually developing into [¥] in (oi +  c(), ch(=), n(-), ng(), p(), (), s(), t(-) [9]
Gaelic. However, the process is far from tidy, uniform or complete, C_D| ELS’EWH,ERE, ’ ’ : ’
especially with oi before r and I. So the above rule is broadly right I_JI_JI _ . Fo ]_
but not universal. It's not a bad mistake to get this one wrong. Rule & In those cases when none of the previous rules about oi apply, it will
004 is reliable by the way. g usually have the default pronounciation of the letter o in Gaelic
Examples: which is [0]. Please read the note in O07 about the messy state of

) ) , . N affairs between [¥] and [0]. 0

J )
goid [g¥d] oighre [vire] The first line of the rule is fairly consistent, so in those specific
oide [¥d's] oidheam [¥jom] environments you very rarely get [¥] and can be confident it's [o]. [
oidhche [¥jca] soitheach [s¥.0x] Anywhere else, you're best off consulting the Wordlist at the end or I.Cf.l’
O

checking with a native speaker. The word coire exemplifies this
problem: it occurs both as [kyria] ‘fault’ and [koria] ‘kettle’.

Examples:

fois [fof] oirre [oR3]
croin [kroN] coire [koria]
poit [pohd] sgoil [sgol]
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(ON[VINN (-)o + I, nn, m [ou]
lIC(-), nnC(-), mC(-) [ou]

This rule deals with o (optionally with letters in front of it) which is
followed either by:

= I, nn or m without anything following them, that is, at the end of
a word

= I, nn or m which are immediately followed by a consonant and
optionally more letters

In all cases the pronunciation will be [oul].

Examples:

toll [toul] tolltach [touLdax]

conn [kouN] connlach [kouNLax]

lom [Loum] lomte [Loumdia]

a@3ss3dls

Ok (-)o + HIATUS [o]
When an o, possible after other letters, is followed by hiatus
(meaning that there is a bh, dh, gh, fh, mh or th that is not

(-)o + dhC(-), ghC(-) VAR: 6 & 0 [o:]
If, in a stressed syllable, o is followed by a dh or gh and the
immediately another consonant, you get a long [0:]. Other letters

may be in front of the o and at the end of the word.

Examples:

fgghnaidh [fo:ni] bgghlanach [bo:Lanax]
r(é)ghnaich [Ro:nig] degghladair [dio:Lader]
fg)ghlam [fo:Lem] Cill 8dhrain [KiL'"o:reN]

a3ss3dls

pronounced anymore) then you usually get a round [0] instead of %
the open [2]. g
Examples: r(ﬁ
bogha [bo.8] comharradh [k6.aRay] o
ogha [0.9] foghain [fo.IN]]

todhar [to.ar] gnothach [gré.ax]

SAER (-)o *+ g(-), b(-) mV(-) [o]
When o (not oi) comes before g or b (followed by more letters) or

m followed by a vowel, then you usually get a round [0]. %
Examples: g
bog [bog] tog [tog] fm
gob [gob] tobar [tobar] °
coma [koma] loma [Loms]
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(OV'W (-)o + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [0-0]
nb(-), nbh(-), nch(-), ngh(-), nm(-), nmh(-) [0-0]
rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [0-0]
ml(-), mr(-), ms(-), mch(-) [0-0] ,

When you have an o in an environment where a helping vowel ;_U'

appears, this will give you [0-0]. Other letters may be in front of the 8

whole group and/or follow. %

Examples: ©

borb [borob] colchag [koLoxag]

dorcha [doroxa] dorgh [doroy]

mormbhair [morovirl] gorm [gorom]

(-)o(-) ELSEWHERE [0]

In all cases when none of the previous rules about o anywhere in

the stressed syllable of a word apply, it will simply be [2]. %

Examples: g

sona [sona] fo [fo] %

bothan [bohan] bodach [bodax] °

donna [doNs] corrach [koRax]

o) (o]

The letter o in an unstressed position does not occur very often and
if it does, it normally obeys the rules that say that unstressed vowels
are boring, so you get [8]. The main exceptions to this rule are
place names which end in -bol [bolL] and -phort [foR[d] and recent
loanwords like seileafon [ felafon].

Examples:

cothrom [korem] eaconomaidh [€'konami]
cudromach [kudramax] [uthmhor [Lu:ver]
aotrom [w:drem] almon [aLamen]

@3ss3dLSNN
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B2l (-)Ph(-) [f] A P [p]

A broad ph anywhere in a word is going to be [f]. It's most At the beginning of a word broad p will be pronounced [p].

commonly found at the beginning of a word as a result of leniting Examples: %
o R . ) o

Ebut cTn f)ccur elsewhere too. 8 poS [po:s] paisg [palg] :5

xamples: :‘5 paigh [paij] partan [paR[dan]
. . : ;
phos [fors] phaisg [fajg] put [puhd] Pabaigh [pabaj]
phaigh [fa:j] Euphort [iafoR[d]

phut [fuhd] Siophort [fisfoR[d]
PO5 QFealks [fl]
. phr'- [fr]
()Vp()

e | The ph in a phl or phr group will always be just [f]. @
: . : M
A broad p which co-mes after a vowe!, p.OSSIb|y with other letters Examples: =
before and/or after will undergo pre-aspiration and come out as [hb]. 5 . _ . o o %
) da phreas [da: fries] da phriobaid [da: frib1d] o
Examples: (@)
apa [ahbe] Upraid [u:hbrid] JO> da phreachan  [da: friexan] da phrionnsa [da: frili:Nsa]
hriob friib do phri bal [da frii:NsabaL
cupa kuhbs] papa [pa:hbe] phrio [frib] o phrionnsabal [da frili:Nsabal]
mapa [mahbs] ceap [kiehb]
B o + ut) wi o) ¥() o) a() au ]
- A lenited slender ph at the beginning of a word will be pronounced
P03 RSl _ . [b] [fj] if there is a back vowel coming after it. )
When a broad p, following some other letters, comes directly after Examples: g
another consonant it will weaken to a [b]. Other letters may follow. 5 . . ] . g
by mo phiuthar [ma fju.er] glé pheallagach [gle: fjaLagex] ™M
Examples: o) Py
> da phic da: fjuR hic fiuR
sporan [sboran] cuspair [kusbir] O a phiorna [da: fju:Rna] phiorr [fju:R]
Ié phiull h le: fjuL da phié da: fja:
spadadh [sbaday] Scarp [sgarb] glé phiullagach [gle: fjuLagax] a phiano [da: fja:ng]
campa [kaumba] teampall [faumbal]
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(-)ph'(-) ELSEWHERE (7] (VP() [hb]
Elsewhere slender ph will be pronounced [f]. 0 A slender p which comes after a vowel, possibly with other letters
Examples: m before and/or after will undergo pre-aspiration and come out as [hb]. ‘,2

zZ . m
glé phianail [gle: fianal] da pheur [da: fiar] =] Examples: g
phill [fi:L] pheanasaich  [fenasic] & cipean [Kihban] drip [drihb] o
da phiseag [da: fifag] An Eiphit [0 Nie:f1d] cuip [kuihb] Duipinn [duihbIN]
suaip [suaihb] paipear [pe:hber]
P08 Rl [pl]

. pr- [pr] -Cp'() [b]

The p in a pl or pr group will always be just [p]. n When a slender p, following some other letters, comes directly after

Examples: % another consonant it will weaken to a [b]. Other letters may follow. r('ﬁ

preas [pries] priobaid [pribid] % EZT]mples. o ' dolb r%n

preachan [priexan] prionnsa [prii:Nsa] ol ' Irp [Y.If ] cellp o [kelb] _ py)

priob [priib] prionnsabal [priCi:Nsabal] culrp [kurb] il\/lacAHpem [maxgalbeN]
scairp [sgarb] impis [mbif]

B o + 06 wi) o) v o) a() au () [pi]

A slender p at the beginning of a word will be pronounced [pj] if p' ELSEWHERE [p]
there is a back vowel coming after it. Clg Where none of the other rules about slender p apply, it will simply be
Examples: Q [p]. ﬁ
o .

piuthar [pju.er] peallagach [pjaLagex] m Examples: g

b ianail ianal i o
pidrna [pju:Rna] piorr [pju:R] pianai [pianal] peur [piar] m

H 3 J .
piullagach [pjuLagax] peann [piauN] pill [pi:L] peanasaich [penasic]
piseag [pifag] peilear [pelar]
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RO1 *r- [r]

A broad r at the beginning of a word which has been lenited

(meaning if it comes after a word that causes lenition or is in a spot

where words are normally lenited such as past tense verbs) will be

pronounced as a weak [r]. o

Examples: >
o

rannsaich [rauNs1g] ruaig [ruagd]]

rainig [ra:n1ig]] darud [da: ru:d]

daron [da: ro:n] daros [da: ro:s]

RO2 r- [R]

When rule RO1 does not apply, broad r at the beginning of a word is

going to be a strong [R]. The only exceptions to this rule are the

words listed on page. =

Examples: §3
@]

rannsaich! [RauNs1g] ruaig! [Ruag]

ruigidh [Rwg'] rud [Ru:d]

ron [Ro:n] ros [Ra:s]

RO3  -rr(-) [R]

Double broad r in the middle or at the end of a word will be

pronounced as strong [R]. o

: Py

Examples u ;9

curran [kuRan] ciurr [kiu:R] O

Barraigh [baRaj] b;rr [ba:R]

torrach [toRax] torr [to:R]

RO4 -rt(-) [Rfd]
A single broad r in the middle or at the end of a word followed
immediately by a t will be pronounced as [R[d]. Other letters may

follow. 2
Examples: g
furtach [fuR[dex] ceart [kiaR[d] o
dortadh [do:R[day] neart [NaR(d]

cuartaich [kusR[d1¢] murt [muR([d]

RO5 -r+d(-), n(-), I(-), s(-) [R]
When r comes before another dental (d, n, | and s) it will strengthen

to [R]. The combination rt is covered in rule R04. w
Examples: 8
ard [a:Rd] carn [ka:RN] JU>
bard [ba:Rd] cursa [ku:Rsa]

burn [bu:RN] dorlach [do:RLax]

R06 -r(-) ELSEWHERE [r]
Single broad r in the middle or at the end of a word will be
pronounced [r] in all places when the previous rules about broad r
do not apply. 2
Examples: §2
aran [aran] cur [kur] o
curamach [ku:reamax] mar [mar]

oran [o:ran] cor [kor]
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RO7 *r [r]

As there is no difference between initial broad and slender r, they
both behave the same so a slender r at the beginning of a word
which has been lenited (meaning if it comes after a word that

causes lenition or is in a spot where words are normally lenited such ﬁ
as past tense verbs) will be pronounced as a weak [r]. %
Examples: %
da rionnag [da: ruNag] rianaich [rianig]

reic [recgl] do righ [dori]

da réis [da: re:] redth [ro7]

R0O8 r- [R]

As there is no difference between initial broad and slender r, they
both behave the same so when rule R07 does not apply, slender r 0
at the beginning of a word is going to be a strong [R]. m
Examples: %
rionnag [RuNag] rianaich! [Rianig] %
reic! [Recg] righ [Ri:]

réis [Re:f] reoth! [Ro]

RO9 -rt'(-) [Rfd]

A single slender r in the middle or at the end, followed immediately

by a t will be pronounced as [R[d]. Other letters may follow. @
Examples: E
cairteal [kaR[dal] abairt [abaR(d] %
cuairtear [kusR[der] cairt [kaR([d]]

pairteach [pa:R[diax] freagairt [fregIR[d]

R10 () u() w(:)o(:)¥(:)o(:)a(:)+ r'(-) [RN/]
When there is a back vowel before a slender rn group, the r will be a
strong [R] and the n will also be strong [N]. Q
Examples: E
cuirn [ku:RN]] buirn [bu:RN] %
Goirneag [go:RNiag] airneis [a:RN1f]

A’ Mhaoirne [@ vw:RNig] bairneach [ba:RNisax]

R11 -r'+d(-), n(-), I(-), s(-) [R]
Slender r before another dental (d, n, | and s) it will strengthen to
[R] 4
Examples: Q
baird [ba:Rd] cuirn [ku:RN] %
aird [a:Rd] tuirse [tu:R[a]

airne [a:RNig] comhairle [ké.8RI8)

R12 -r'(-) ELSEWHERE [r]
Elsewhere single slender r will be pronounced [r]. 0
Examples: m
gaire [ga:rie] cir [Kii:r] §
coire [koria] cuir [kurl] &
buireadh [bu:ray] abair [ab1r]]
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S01 shl- [L] S04 sn- [sN]
shr- [r] If you get broad sn at the beginning of a word, the n will be strong.
w
Lenited sl and sr will simply be [L] and [r]. Some speakers have Examples: g
more complicated things going on here but that isn’t required across w snamh [sNa:v] snaoisean [sNw:fan] JD>
. . . . Py
all dialects so you can do without as a learner without sounding odd. ;C>) snog [sNog] snotadh [sNohday]
Examples: o shagan [sNagan] snuadh [sNuay]
mo shron [ma roin] do shlainte [do La:Nidia]
da shrath [da: rah] da shloc [da: Loxd]
S05 sh- h
shraon [rwn] da shiat [da: Lahd] ° _ _ ~ [h]
When none of the previous rules about lenited sh at the beginning of
a word apply, it will simply be pronounced [h]. w
S02 shn- [n] Examples: 3
If you get broad lenited shn at the beginning of a word, all you get is ro shalach [ro haLex] glé shona [gle: hona] :5
a weak [n]. Some speakers have more complicated things going on shasaich [ha:sig] mo shiilean [ma hu:lan]
here but that’s not necessary for a good accent for a learner. % o o .
o) ro shoilleir [ro hyLizr] da shaoghal [da: hw:.sL]
Examples: >
O
shnamh [na:v] do shnaoisean [do nw:fan]
glé shnog [gle: nog] glé shnotach  [gle: nohdax] S06  (-)st(-) VAR: sd [sd]
da shnagan [da: nagan] do shnuadh [do nuay] Broad st at the beginning, in the middle or at the end of a word is
pronounced [sd]. The variant sd spelling is pronounced exactly the
same. %
S03 s(b)r- [sdr] Examples: §3
A broad st or str at the start of a word will always be [sdr]. staran [sdaran] astar [asdar] o
. w
Examples: 8 stath [sda:] posta [posda]
sron [sdro:n] strac [sdra:xg] JD> stuth [sduh] liosta [Liisde]
srath [sdrah] strap [sdrahb]
sruth [sdruh] striopach [sdrizhbax]
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S07 (-)s(-) ELSEWHERE [s]
Broad s in all other positions (at the beginning, in the middle and at
the end of words) is pronounced [s]. w
Examples: 8
>
sar [sa:r] fosgailte [fosgaldia] O
suil [su:l] cus [kus]
casan [kasan] fallas [faLes]
S08 shr'- [r]
Lenited slender shr will simply be [r]. Some speakers have more
complicated things going on here but that's not necessary for a 0
good accent for a learner. M
Z
Examples: o
m
da shrian [da: rian] da shreath [da: reh] X
shreap [rehb] glé shreamach [gle: remax]
do shreothart [do rohaR([d] glé shrianach [gle: rianax]
S09 shl'- [
When you have a lenited slender sl group at the start of a word, all
that is left is weak [l]. @
m
Examples: zZ
g
shliob [li:b] glé shleamhainn [gle: [EVIN/] %
da shlighe [da: li.s] da shleagh [da: I¥y]
mo shliochd [ma liaxg] mo shléibhtean  [ma le:vdian]

S10 shn'- [n]

When you have a lenited slender sn group at the start of a word, all

that is left is weak [n]. @
m

Examples: zZ
g

shniomh [niav] da shneéap [da: ne:hb] %

shnigh [ni] mo shneachda [ma nexga]

glé shnigheach [gle: ni.ax] da shneag [da: neq]

S11 sh'+ u(:) w(:) o(:) ¥(:) o(:) a(:) au [hj]

A lenited slender sh which is followed by a back vowel will have a

glide, so you get [hj]. )
m

Examples: zZ
g

da shiucar [da: hju:xger] da sheomar [da: hjo:mer] %

shedl [hjo:L] mo sheann aois [ma hjauN w:[]

bho Sheoc [vo hjoxg] da sheagh [da: hjyy]

S12 sh'- ELSEWHERE [h]

If none of the previous rules about lenited slender sh apply, then

you get [h]. )
m

Examples: Z
g

mo shiol [ma hisl] glé shean [gle: hen] %

shin [hi:n] mo sheud [ma he:d]

da shiorram [da: hiRam] glé shearbh [gle: herev]
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S13  s(b)r- [sdr]

Because the broad/slender difference does not apply here, a

slender st or str at the start of a word will also be [sdr]. ‘,L’

Examples: Q
=]

srian [sdrian] striochd [sdriaxg] %

sreap [sdrehb] stri [sdri’]

sreothart [sdrohaR/d] streup [sdriahb]

S14 sp'+ u(:) w(:) o(:) ¥(:) o(:) a(:) au (-) [sbj]

sm'+ u(:) w(:) o(x) ¥(:) o(:) a(:) au (-) [smj]

In a slender sm or sp group at the beginning of a word the s will be

broad [s]. The m and p will be [bj] and [mj] if they are followed by a @

back vowel. E
g

Examples: %

smeorach [smjo:rox] spiuthar [sbjuhar]

smiur [smju:r] spionnadh [sbjuNay]

smeoirn [smjo:RN]] spearl [sbja:RL]

S15 sg'- [sg']

In a slender sg group at the beginning of a word the s will be broad

[s] and only the g will be palatal [g]]. ,‘£

Examples: Q
g

sgian [sgiian] sgeir [sgler] g

sgith [sdii’] sgeadaich [sgledicg]

sgeulachd [sgiiaLexg] sgioba [sgiiba]

S16 sl- (U]
When you have a slender sl group at the start of a word, both letters
will behave as if they were at the start of the word, so you get strong

[L]. In some areas the s is broad but that's not necessary for a &
good accent for a learner. 7
Examples: I'?'I
Py
sliob [JLii:b] sleamhainn [JUgVIN']
slighe [JLii.a] sleagh [JL¥y]
sliochd [JUiaxg] sléibhtean [[Ue:vdian]
S17 sn'- [N]
When you have a slender sn group at the start of a word, both
letters will behave as if they were at the start of the word, so you get
strong [N']. In some areas the s is broad but that’s not necessary for 2
a good accent for a learner. 7
Examples: I'?'I
Py
sniomh [/Niiav] snéap [/Nie:hb]
shigh [FNii] sheachda [[Niexga]
snigheach [JNii.ax] sneag [[Neg]
S18 (-)s'(-) ELSEWHERE [f]
When none of the other rules about slender s apply, the it will be
pronounced [[] at the beginning, in the middle and at the end of a n
word. m
zZ
Examples: O
m
seachdain [fexgeN] maise [mafs] PY
siuil [u:1] ceist [Kiefd]]
ciste [Kifdia] cis [Kii:f]
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TO1 t-sl- [tL] TO3 (-)thC(-)
t-sr- [tr] A broad th anywhere that is immediately followed by another
L [tr] consonant is silent. Some speakers do more complicated things to
hC- at the start of t that 'th h
The definite article an t- cause lenition. In spite of the spelling, this thC- a , e start of a word bu . a 'doesn appen everywhere so %
. . you don’t have to worry about doing it yourself. o)
also applies to sl, sn and sr groups. In the case of t-sl and t-sr this - 3
simply lenites away the s, resulting in [tL] and [tr] (as if they were 8 Examples: o
written t-shl or t-shr). In the case of t-sn, leniting the s away results > do thlachd [do Laxg] duthchasach  [du:xesex]
int +n, which in Gaelic results in [tr"]. mathraichean  [ma:rigcen] sruthlach [sdruLax]
Examples: cothrom [korem] luths [Lu:s]
air an t-slat [er N tLahd] san t-sron [saN tro:n]
san t-sloc [seN tLoxg] air an t-snaois [er N truu:f] T04 Vih+ V- [ ]
airan t-sraid [efoN tra:d]  air an t-snathainn [er N trahiN]] [ ]
A broad th in results in hiatus if the first vowel is long (it does not
T02 tn- [tr7] apply to diphthongs) if there is another vowel coming after. At the w
e X
this is similar to groups like cn so at the beginning of a word the n end, it is silent. g
will turn into [r] with nasalisation on nearby vowels. Words with tn- Examples: o
are very rare in Gaelic, except in the an t-sh- combination. % butha [bu:.g] gaothach [gw:.ex]
. (@)
Examples: > lathair [La:.1r] gaoth [ow:]
tnuth [trd:] tnachair [traxzr] blathaich [bLa:.1¢] buth [bu:]
thnuthail [trii:.al] tnuthmhor [trizver]
tnuthaire [tri:.€ria] tnuthach [tri:.ax]
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TO5 (-)th(-) ELSEWHERE [h]
When none of the previous rules about broad th apply, then is is

usually [h]. If it occurs between vowels it can also sometimes be
hiatus but since it's hard to predict, I'd advise you to check with a 5
native speaker, the wordlist or a dictionary. 8
Examples: )5
thainig [ha:n1ig] cruth [kruh]

athair [ahar] tuath [tuah]

sgiathan [sgiishan] latha [La.g]

TO6 (-)Vi(-) [hd]

A broad t which comes after a vowel, possibly with other letters
before and/or after will undergo pre-aspiration and come out as [hd].
Examples: 8
put [puhd] botainn [bo:hd1iNT] )D>
cat [kahd] atach [ahdax]

cutadh [kuhday] cota [ko:hda]

TO7 -Ct(-) [d]
When a broad t in the middle or at the end of a word is immediately
preceded by another consonant, you get a [d]. w
Examples: 8
allt [auLd] calltainn [kauLd1iN]] )D>
cunnt [kG:Nd] gealltanas [glauLdanas]
sagart [sagaR/[d] taghta [tyyda]

TO8 t- [t]
When none of the previous rules apply, a broad t at the start of a
word will be pronounced [t]. w
Examples: 8
>
taigh [t¥]] ton [to:n] O
tarraing [taR1in'g]] turas [tures]
tog [tog] tur [tu:r]
T0O9 t-sl- [t]
t-sr- [tr]
t-sn- [tr7]
The definite article an t- has leniting force. In spite of the spelling,
this also applies to sl, sn and sr groups. In the case of t-sl and t-sr ®
this simply lenites away the s, resulting in [tl] and [tr] (as if they were g
written t-shl or t-shr). In the case of t-sn, leniting the s away results I'?'I
in t + n, which in Gaelic results in [tr7]. Py
Examples:
air an t-sliabh [er BN tliav] air an t-sreath [er BN treh]
air an t-sleagh  [er oN tlyy] air an t-sneachda [er N tréxge]

air an t-srian [er oN trian] air an t-snighe [er oN tri.o]
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T10 thl- [ T13 (-)iiere +th [ ]
thr'- [r] At the end of a word after the above long front vowels, slender th
A lenited slender thl and thr group will result in weak [I] and [r]. will be silent. I_(Iﬁ
Some speakers do more complicated things here but that doesn't , Examples: %
happen everywhere so you don't have to worry about doing it @ dith [dii:] [&ith [Lie] %
yourself. > sgith [sgii] sgéith [sgie:]
Examples: ? sith [ fith Ife:]
do thligheachd  [do li.axg] bho thri [vo ri]
do thliochdan [do lixgan] da threoir [da: ro:r]
T14 (-) u(: ) o() ¥(:) o(x) a: us + th'V- j
da threabhaiche [da:ro.1ce]  da threud [da: re:d] () ) wi) o) ¥(:) o) a: us [i]
Between two vowels slender th, possibly followed by more letters,
frequently turns into a [j] glide if the first vowel is one of the above 0
T11 th'+u(:) w() o(:) ¥(:) o(:) a: au - [hj] back vowels. M
Z
At the beginning of a word a slender th will be pronounced [hj] if one Examples: I'?'I
of the above back vowels is immediately following. Other letters will laithean [La:jon] gaoithe [g¥jo] Py
—
follow. m luaithe [Lusjo] dltitheachd  [dLujoxg]
E les:
xamples = raithe [Rasjo] saoitheil [s¥jal]
glé thedma [gle: hjo:ma] thearn [hja:Rn] Py
‘ga theddhadh  [ge hjo:.aYy] da thiurr [da: hju:R]
T15 (-)th'(-) ELSEWHERE h
A Thearlaich! [e hja:RL1g] glé theann [gle: hjauN] C'e) ) ] [ ]_
When none of the previous rules apply, slender th is usually [h]. If it
occurs between vowels it can also sometimes be hiatus but since
T12 -th'C(?) [ ] that is hard to predict, I'd advise you to check with a native speaker, (,L’
A slender th in the middle or at the end of a word that is immediately the wordlist or a dictionary. Z
followed by another consonant is silent. 2 Examples: m
Examples: E thig [hig’] frithealadh [frihaLay]
=]
creithleag [krelag] cruithneachd [krwNiaxg] % theasaich [hesig] bitheanta [bihaNda]
aithne [a:Nig] aithreachas [arioxes] glé thiamhaidh [gle: hidvi] dithis [dii.1f]
breithneachadh [brenaxay] lUiths [Lu:f]
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T19 t- [t]
Slender t at the beginning of a word will result in palatal [t]. Note
that in some spelling systems some of the irregular verb spellings

are an exception to this rule.

Examples:

teas [Pes] tearn [fa:Rn]
teagamh [fegav] tedma [fo:ma]
tiamhaidh [tTBvI] tiurr [tu:R]

ISE[CNERK

T16 - [t
tr'- [tr]

Slender tl and tr will result in [t]] and [tr] because the broad/slender ¢,

difference doesn't apply in these groups. @

Examples: %

tligheachd [tli.oxg] tri [tri] A

tliochdan [tlixgan] treoir [tro:r]

treabhaiche [tro.1¢o] treud [tre:d]

T17 -Ct(-) [d]

When you have a consonant immediately before a slender t then

you get [d]. There will always be letters in front and possibly some 0

after. m
zZ

Examples: O
m

ledinteach [Lo:Nidiax] slainte [sLa:Nidia] Py

mointeach [mo:Nidiax] susbaint [susbiNid]

Asainte [asINidia] smuaint [smuaNd]]

T18 (-)Vt'(-) [hd]

When you have a vowel directly in front of a slender t then you get

pre-aspiration. Other letters may be in front and after the group. )

Examples: Q
g

oiteag [ohdiag] poit [pohd]] g

aiteamh [ahdiav] moiteil [mohdial]

croit [krohd] tuiteam [tuhdiem]
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Uo1 (-)ua(i)(-) [us]

In a stressed syllable, possibly following some other initial letters, ua

and uai will be pronounced [ua]. Other letters may follow. %

Examples: g

bhuam [vuam] uaine [uaNig] m
(@]

cuan [kuan] bruaich [bruag]

gluasad [gLussad] buail [busal]

uo2 (-)u(i) + rd(-), rl(-), rn(-), rrC(-), rr [u:]

When u or ui is followed by an rd, rl, rn and rr plus a consonant

anywhere or by rr at the end of a word then you get a long [u:].

Once again, I'm following the traditional convention of not writing the (f|

grave before rr as it leads to misleading spellings (cf A06, E17, [11). ﬁ

Examples: %

burn [bu:Rn] buird [bu:Rd]] =

curlach [ku:RLax] vird [u:Rd]

sglqur [sgu:R] tuirling [tu:RIInig]]

uo3  (-)u(i)-) [ur]

In a stressed syllable, possibly following some other initial letters, U

. (7}

and ui will be pronounced [u:]. Other letters may follow. ;—U|

Examples: g

dun [du:n] duin [du:N7] m
(@]

glun [gLu:n] cuil [ku:l]

culaibh [ku:Lav] suilean [su:len]

Uuo4 (-)u+ Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [u-u]
nb('), nbh(_)! nCh(_)! ngh(-)r nm(_)! nmh(_) [U'U ]
rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) ~ [u-u]
ml(-), mr(-), ms(-), mch(-) [u-ul o,

When you have an u in an environment where a helping vowel ;_U'

appears, this will give you [u-u]. Other letters may be in front of the 8

whole group and/or follow. @

Examples:

ulbhag [uLuvag] lurgann [LurugaN]

cunbhalach [kunuvalLax] furm [furum]

urchair [uruxzr] mulghart [muLuysR[d]

uo5 (-)u + IIV(-), nnV(-), rrV(-), mV(-) [u]

In a stressed syllable, possibly following some other initial letters, ui

before Il, nn and m will be [w] if there is a vowel immediately after.

Other letters may follow. Note that there is a certaint amount of

o . . . (%)}

variation in the way native speakers deal with this group. Some ;J|

have retained the older [u] pronunciation, so [u] is acceptable in g

many places too. I_({_JI

Examples: O

ullamh [uLav] grunnach [gruNax]

mullach [muLax] cumail [kumal]

gunna [guNs] cumanta [kumaNda]
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Uo6 (-)u+ I, nn, m [ur]

IC(-), nnC(-), mC(-) [ur]
This rule deals with u (optionally with letters in front of it) which is
followed either by:

= I, nn or m without anything following them, that is, at the end of
a word

= I, nn or m which are immediately followed by a consonant and
optionally more letters

In all cases the pronuciation will be [u:]. Once again, since this

lengthening is fully predicatble, I’'m not using the grave on these in

line with the traditional system (cf A06, E17, 111, U02).
Examples:

a3ss3dls

uo8 (-)ui + IIV(-), nnV(-), mV(-) [w]

In a stressed syllable, possibly following some other initial letters, ui
before Il, nn and m will be [w] if there is a vowel immediately after.
Other letters may follow. Note that there is a certaint amount of

a-null [o'NG:L] sunnt [s:Nd]

grlﬂjnn [grii:N] cmqu [k{izm]

cunnt [kai:Nd] diumbach [diti:mbex]
U07 (-)u + dhC(-), ghC() [u:]

In a stressed syllable, initially and following other initial letters you
get a long [u:] if there is a dh or gh coming after which itself is

immediately followed by another consonant. Other letters my follow
but have no further effect.

Examples:

ILnghdaich [Lu:dig] rLquhraich [Ru:rig]
Dughlas [du:Los] Lughdan [Lu:dan]

ughdar [u:dar] Fughlaigh [fu:Laj]

a3ss3dls

variation in the way native speakers deal with this group. Some %

have retained the older [u] pronunciation, so [u] is acceptable in m

many places too. I_Cf_JI

Examples: (]

tuilleadh [twLliay] cuinneag [kwNiag]

duilleag [dwliag] luime [Lwima]

cluinneadh [KLwNiay] muime [Mmwims]

uo9 (-ui+ Il, nn, m [wi]

IC(-), nnC(-), mC(-) [wi]

This rule deals with ui (optionally with letters in front of it) which is

followed either by:

= I, nn or m without anything following them, that is, at the end of @
a word ;

= I, nn or m which are immediately followed by a consonant and g
optionally more letters I.Cf.l’

In all cases the pronuciation will be [wi]. O

Examples:

tuill [twil’] cluinntinn [KLWiNid'IN]]

uillt [wilidi] suim [swim]

cluinn [KLUWiN] Luimneach [Lwimnax]
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U10 ui- [w] U12 (-)ui + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [ w-w ]

d! n, t! |, s+ ui- [ w] nb('), nbh(_)! nCh(_)! ngh(-)r nm(_)! nmh(_) [ w-w ]
This rule and the next deal with what is perhaps the messiest aspect rb(-), rbh(-), rch(-), rg(-), rgh(-), rm(-), rmh(-) [ w-w ]
of the Gaelic spelling system. The previous rules are reliable but mi(-), mr(-), ms(-), mch(-) [ W-w ]
U10 and U11 are only broadly indicative. Different speakers and o When vou have a,m i ;n an ;anvironment where a heloing vowel @
dialects differ considerably from each other. So in the remaining = y L . Ping ;_u|

. ) . I';FI appears, this will give you [w-w]. Other letters may be in front of the

cases of ui you will more often than not get [w] if: R (7))

. o o whole group and/or follow. Should you have a case of ui being @
" theuiis atthe beginning of a word % pronounced [u], then it behaves like rule U03 and you get [u-u] 8
= ifit follows a dental (d, n, t, | and s) O ’ '
Examples: Examples:
uiseag [wiag] duine [dwNs] duilgheas [dwlwjsas] duirche [dwriwgs]
Uisge [wigs] duilleag [dwLag] duirgh [dwriwij] guirme [gwriwma]
tuiseal [twfsl] suipear [swihbar] luirg [Lwrwrg] suirghe [swrwj]
U1l1  -ui- | [u] U13 (-)ui + Ib(-), Ibh(-), Ich(-), Ig(-), Igh(-), Im(-), Imh(-) [u-u]

—Ui- ELSEWHERE [ u ] nb(-)1 nbh(-)’ nCh('), ngh(_)’ nm(-)a nmh(_) [ u-u ]
Please also read the note under U10 about the problems with the o R o WA el By el oy o) Lum]
remaining cases of ui. In the middle of a word, it will usually be [u] ml(-), mr(-), ms(-), mch(-) [u-ul o,
before a single | and more often than not in all other cases. g When you have an u in an environment where a helping vowel ;_U'
Examples: I.‘{.’I appears, this will give you [u-u]. Other letters may be in front of the g

O
buileach [bulex] buidhe [bujo] whole group and/or follow. m
E les:
cuilean [kulan] bruis [bruf] x'amp ©s ' _ '
cuileag kulag] puist [puld] cuilg [kulug’] buirbe [buriuba]
fuirmean [furfiuman] cuimsich [kumufic]
cuirm [kurium] muinghinn [munujIN]]
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U14 (-)u- ELSEWHERE [u]
In a stressed syllable, both initially and following other initial letters
and always followed by other letters, u will be pronounced [u] (£|
everywhere else. I_;Igl
Examples: g
urram [uRam] cus [kus] Q
ugh [u] buntainn [bundiN]]
urchair [uruxir] thuca [huxge]
U15 -u(-) [a]
The letter u in an unstressed position does not occur very often
. D o . C
anymore in recent publications and if it does, it normally obeys the =
. @)
rules that say that unstressed vowels are boring, so you get [a]. ;—U|
Examples: g
agus [ages] MacCodrum [max'kodram] %
o
bu [ba] ud [ed]
Calum [kaLam] Sgulamus [sgu:Lemas]
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